
HAL Id: tel-00468203
https://theses.hal.science/tel-00468203

Submitted on 30 Mar 2010

HAL is a multi-disciplinary open access
archive for the deposit and dissemination of sci-
entific research documents, whether they are pub-
lished or not. The documents may come from
teaching and research institutions in France or
abroad, or from public or private research centers.

L’archive ouverte pluridisciplinaire HAL, est
destinée au dépôt et à la diffusion de documents
scientifiques de niveau recherche, publiés ou non,
émanant des établissements d’enseignement et de
recherche français ou étrangers, des laboratoires
publics ou privés.

Systèmes complexes gouvernés par des flux : schémas de
volumes finis hybrides et optimisation numérique

Pascal Jaisson

To cite this version:
Pascal Jaisson. Systèmes complexes gouvernés par des flux : schémas de volumes finis hybrides et
optimisation numérique. Mathématiques [math]. Ecole Centrale Paris, 2006. Français. �NNT : �.
�tel-00468203�

https://theses.hal.science/tel-00468203
https://hal.archives-ouvertes.fr


ÉCOLE CENTRALE DES ARTS
ET MANUFACTURES

 « ÉCOLE CENTRALE PARIS »

THÈSE
présentée par

Pascal Jaisson

pour l’obtention du

GRADE DE DOCTEUR

Spécialité : Mathématiques

Laboratoire d’accueil : MAS

SUJET :
Systèmes complexes gouvernés par des flux : schémas de volumes finis hybrides et

optimisation numérique.

soutenue le : 13 octobre 2006

devant un jury composé de :

M. Grégoire Allaire                 Président
M. François Alouges             Examinateur
M. Fayssal Benkhaldoun             Rapporteur

            M. Florian De Vuyst             Directeur
M. Jérôme Jaffré Examinateur 
M. Frédéric Pascal Rapporteur

            M. Bruno Scheurer Invité

2006 - 20



2



�����
�������

��� �����
������� 	
�� �
�� �
��
�� � ��
���� �������� �� � �� �� 

����� �
��
����� ��

����� ������� 
�� ��
�� ������ �� 

��� ���������� �� ���� ����� ���������� �� ��
��� ��� �
����� 



������! �� ����
��������! �� ����������� �� �
� 
�������� �

�� ������ �� ����� � ���� 
� ���	����

"� �����
�� �
��� �
������ �� ���
���
��� �
#������ $�������� �
%���� �� ���� �����
������&

���� ����'
�� #�
���� ��� �
� (��� 

�)��
� �� ��� � �
�� ��� �� 
��	�� �
�� �� ��������� ��

���	�� �� �*# ���� ��� 

�����
�� 
��������� "� �� �����
�� ����� �� �
�	
�� ����� 	��� ��
�����

"
� ����� �� 	�	� ��

��������
� � "����� "�,�� �
�� �
�������
� ��
�� �
� �
���� �
�� ��

�
� �����������

"� �����
�� ������� -��.����
�� �� �������
 /��
�� �
�	
�� �

���� �� ����
���� �� ������

0
��� �� ����� �
����� �
�� �
� ��� �
�	
�� 1���
��� #������! ����'
�� #�
����! "�����

"�,�� �� -���
 �
������ 

��� ������� �� ���� �� �� ������ "� ��� �� �����
���

"� ����� ��������� � �����
��� �
�� ��� ������� �� ���
���
��� �#� ����� ��� ���	�� ���	��

�� 1�������� 0���
��� ��2
� � ��� ��� ��
������ ������������(� �
�� 	��� ���
����

"� �

����� ��� ��� 

������� �� 3�
�� /��
 �� ��������! �	�
 �������� �
�� ���	����� ���� ��

�
��� ������ ������� 
�� ��
�� �������

"� ����� � �����
��� �� (������ �� �
�� �����
���������� #��
���! �
�� ��� �
���� �� ���� 
��

�


������ �� ����
��
� �� �
� �����
��� �� ������ *�)�! �
�������� �����
��� *���������

�
�� �� �
����� ��
���� �
���
��� 
����� �
���

�



��



���



�	



����� ��� ���	
���

�������
���� 	
�
���
 ��

����������	�
 ����

�����
 � ������������ �
� �
�����

� ���� �
� ������
� �������������� �


������
����

�	�����
 �

���
�� �
� �
��� �
 �
���

 ���� �� �
��
�� � ��
	
� �������
� ��� �� �����


��� ���

4�4 �
���� 

����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5

4�6 �
����� �� 	������� �� �
���� 

����� �� ������ ��

�������� � � � � � � � � � 7

4�8 * �����
� �� �
���� � �� ������� �����&�
��
� � � � � � � � � � � � � � � � � 9

4�: 0
���������� � ��
�
� �� �
� �����
� � �� ������ �� ���	���� �����&�2
��� � ;

4�5 0��
�� ��� ����� �� ���	�
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;

4�7 ���
��������
� ��������� ��� ������
�� � � � � � � � � � � � � � � � � � � � � � 4<

�	�����
 �

������������ �
 �� 
���
��� �������
 
���
 �
�� ����

�

6�4 /���������
� �� ��
����� �

���������
� � � � � � � � � � � � � � � � � � � � � 48

6�6 /���������
� �� �
���
������ ��������� �

���������
� � � � � � � � � � � � � � 4:

6�8 * ������
� �� ��������� ���������� � � � � � � � � � � � � � � � � � � � � � � � � 45

	



����� ��� ���	
���

�	�����
  

������������ �
 �� 
���
��� �������
 
���
 �
�� ����

� ��

 �������
 �


!������ �
 �
���

 ���� �� ��
����
 ����



8�4 /���������
� �� ��
����� �

���������
� � � � � � � � � � � � � � � � � � � � � 4;

8�6 * ������
� �� �������� ���������� � � � � � � � � � � � � � � � � � � � � � � � � 6<

����������	�
 � 

�����
 �� ������������ �
 ����

� ���� �
� �����
� �
 ����
 �����
� 
�

��	������
� �������������� ����
�
� ��


������
����

�	�����
 �

����
������� �� 
���
��


�	�����
 �

"�
�!�
� 
�
���
� �
 �����
� �
 ���#
 �����
�

6�4 �
����� �� ������� 
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 88

6�6 3�� =��
����= �
����� �� ��

�� 
���� � � � � � � � � � � � � � � � � � � � � � 8:

6�8 /���������
� �� �
���� �� #> �� ?��
�� � � � � � � � � � � � � � � � � � � � � � 85

6�: #���
 �����
� ��������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 87

6�5 @��������� ��������� ��� 

�����
�� �� �
��� � � � � � � � � � � � � � � � � � 8;

6�7 * �����������
� ��������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � :4

�	�����
  

�����
� ���
�����
� 
� ���#
 �����
�$ �������
 �%������������ �
 �����
�

8�4 �
����� 
����	����� �� ���)
 �
����� � � � � � � � � � � � � � � � � � � � � � � � :5

8�4�4 3� ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � :5

8�4�6 3� ������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � :5

8�4�8 @�� �



�����
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � :7

8�4�: ������� �� A
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � :7

8�6 /�
����� �
����������
� �� �
����� � � � � � � � � � � � � � � � � � � � � � � � :7

�	�����
 &

���
��� �%������������ ��� �
� 
��������� �������
� 
� ��� �����

:�4 0�
� �
��� (
�
��
������ �� 

B� � � � � � � � � � � � � � � � � � � � � � � � � :;

	�



:�6 0��
�� �� �������� �� J � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5<

:�8 0��
�� ��������� �� �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � 56

:�: #��
������� �

���������
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 55

:�5 ?����� �� �
���
������ �

���������
� � � � � � � � � � � � � � � � � � � � � � � 5;

:�7 ��������
� ��������� �� � ������
� � � � � � � � � � � � � � � � � � � � � � � � 7<

�	�����
 '

������������ ��� �
� 
��������� �������
� ���!�
�
��(

5�4 /���������
� �� �� ��

��� ���������� � � � � � � � � � � � � � � � � � � � � � � � 78

5�6 �����������
� �� �������� �� J � � � � � � � � � � � � � � � � � � � � � � � � � � 7:

5�8 ?�������� ����������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 7:

�	�����
 )

��
��
 �
 �� ����������� '

����������	�
 *�

�����
 ��� �
�
�� ������
  !


������
����

�	�����
 �

����
������� 
� ����+�
 ������!�
 �� �
	��� 	+����


4�4 0
�����
��
� �� �
���� ������� � � � � � � � � � � � � � � � � � � � � � � � � � CC

4�4�4 ��)����
� �� A� ��������� ������� � � � � � � � � � � � � � � � � � � CC

4�4�6 ��������� �� �
���� ������� � � � � � � � � � � � � � � � � � � � � � � � 9<

4�4�8 �
��� 	�
�
������ �� �
���� ������� � � � � � � � � � � � � � � � � � � � 94

4�4�: *�����
�� ����	������� �
�� ��� (
���� �
������ �� 	�
�
������ � � � � � 94

�	�����
 �

���
��������� �
� ,��
����� θ

6�4 0�� �� �
������
� �� ������
�� �������� �
������ � � � � � � � � � � � � � � � � � 98

6�4�4 #������ @�� ��� �� 
������ �
D����� �� ��������� �� �
���� ������� � 98

6�4�6 E
�� @�� �� ���������
� ��������� �������� � � � � � � � � � � � � � 97

6�6 0�� �� �
������
� �
������ �
� �������� � � � � � � � � � � � � � � � � � � � � � � 9C

6�6�4 �
��� ��
��������� �� �
���� � � � � � � � � � � � � � � � � � � � � � � 99

6�6�6 �����������
� �� �� ����
� @�� �� L∞&������ � � � � � � � � � � � � � 9;

	��



����� ��� ���	
���

6�8 0
�����
�� ��� θ �
�� �� �
���� �

���� ��� �� ����
� F
�� �
������ �
�

��������G � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;8

6�: * ������ �� (
�
��
�� θ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;7

6�5 * �����
� ����������� �� 
�� �� ������� � � � � � � � � � � � � � � � � � � � � � ;7

�	�����
  

������
�

� ������!�
�

8�4 0�� �
������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ;;

8�4�4 *�����
� �� ������
�� �������� �
�� �� (
�
��
� ����� � � � � � � � � � � ;;

8�4�6 *�����
� �� ������
�� �������� �
�� ��� (
�
��
� 

������ �� 
������ 4<<

8�4�8 *�����
� �� ������
�� �������� �
�� ��� (
�
��
� 

������� ��� �
�
��� 4<5

8�4�: *�����
� �� ������
�� �������� �	�
 ����(�
��
�! 
�

 �� ����������
�� 4<9

8�4�5 *�����
� �� -������ �	�
 ��� �
���� �������� ��������� � � � � � � � � � 4<9

8�4�7 *�����
� �� -������ �	�
 ��� �
���� �������� �� 
������� � � � � � � � 44<
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��� � �������� ��� �
��
�� �� ����N��� ��,������� F4G �� F6G �
�	��� N��� ��������

���������� ��� �� ���	��� �� ���	��� N��� �������� �� ���������� $
�� �
�����
�� 
���� �������
�

��� �� ������ �� ��� ���	���� 	������� �����
��� F4G �� F6G� 0�� ��� ���	���� �������� 
��
��

�� ���� 
��� ��� �2
��� F4G �� F6G �����
��	������

0��������! �� 
���
��� �
���� φo �� ���	��� �
�� N��� �������� ����� 
�� ��� ���	���� 	��������

$
�� ����
����
�� ��� (
�
��
� ���������� �� ����� α(t) ∈ [0, 1] �� ��� 
���
���� �

���� α(t)φo

�� (1−α(t))φo ���
���� �����
��	����� �� �2
��� F4G �� F6G� 3�� ������
�� ����������� �
�� ��
��

∂tρ1 + ∂xρ1v1(t) = 0, F6�4G

∂tρ2 + ∂xρ2v2(t) = 0, F6�6G

�	�
 ��� 	������� �� ������
�� �� ��� ������ �����
��	��

v1(t) =
α(t)φo

max (1,m1(t))
, m1(t) =

∫ 1

0
ρ1(x, t) dx, F6�8G

v2(t) =
(1 − α(t))φo

max (1,m2(t))
, m2(t) =

∫ 1

0
ρ2(x, t) dx. F6�:G

/
�� ��� �� ��
����� �
�� ���� �
��! �� (��� 
���
��� ��� (
�
��
� α ����������� � �
����
�

(
�
��
���� BV (0, T ) � 	������ ���� [0, 1]�

3�� ����� �� ���	�
� D1(t) �� D2(t) �
�� ��� ���	���� 	������� F4G �� F6G 
��
���� ��� ��� *@�



�����
������� �
�� �
���� �����
��	����� ���

∂tdℓ + vℓ∂xdℓ = 1, x ∈]0, 1[, dℓ(0, t) = 0, Dℓ(t) = dℓ(1, t) F6�5G

�
�� ℓ = 1, 2� 3� 	������ vℓ ������ �� �� (
�
��
� α� #����! �� ��� 
���� ��� 
����� ����� ��

���	�
� Dℓ ������ ����� �� α� ���� �� �����! �
�� �
�������
�� 
���� ��������
� �� ��������� ��
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*���	��� 4� 8��	�	���	�� �� �� 
���
	�� ����� �� ����� ���( ����
��

�
����
� Dℓ = Dℓ(t;α)! ℓ = 1, 2�

$
�� ������
�� �
�	
�� �������� �� 
���
��� φo ����� ��� ��� ���	���� 	������� �)� �� �����(����

��� 
������� � ����
� �� ������� �� ���	�
� �� ��������� �� ����� �� ���������� ��� ����N���

�� ���� F4G �� �� ���� F6G� /��� ���
�������! �
�� �
�� ��������
�� � �� ��
����� �� 

������


������ ��� �� �����	���� �� ����� [0;T ] F�
�����	���� �� �
��� � ������
�G� $
�� ����
����
��

��� ���������� 

������� ���������� �� ������� �� ���	�
� �� ������� Dmax;1 �� Dmax;2� 0� �
��

��� ����� �� ���	�
� ����
���� F����� �� ����������G � �� ��� ��������� $
�� 
���
�
�� ��
�� ��

(
�
��
� α ∈ BV (0, T ; ]0, 1[) ��� �������� ��� (
�
��
� �� 

B� J ��)��� ���

J(α) =
1

T

∫ T

0

{

(D1(t;α) − Dmax;1)
2 + (D2(t;α) − Dmax;2)

2
}

dt. F6�7G

3� ��
����� �

���������
� ��� (
����� �
� ���� �� ����
� �� �������
� ��)���� /
�� �� �������

�������������! �� ��� ��
������� �� �
����

��� ��� �� ��
����� �
�� �� 

������ ���������� �

�� ����
� �� �������
� )���� 3� (
�
��
� α ��� ��
�� ������
�� ��� �� 	�
���� �

���������
� ��

�������
� )��� αh!

αh = (α1, α2, ..., αM ),


H αn! n = 1,M ��� ��� ����
 �����
� �� α(tM ;n) �	�
 tM ;n = (n−1)T
M � $
�� ����
����
�� ��


�������� J ��� ������ �� ��

�������� ��� (
�
��
�� ��������� �� ����� � ������ �� αh ∈
R

M � 0�� 
�������� � ��� � ����� �
�� �������� �
����	�� �
����
� ��� (
�
��
�� 

�������� ���

�
�
��� �� �� ��� ��� ��� �
�� �
�� n!

Jα|[tM;n,tM;n+1[ = αn, n = 1,M − 1.

3� (
�
��
������ ���������� ���
���� ��� ��
�� �
���� ��� JM !

JM (α) =
1

T

∫ T

0

{

(D1(t;Jα) − Dmax;1)
2 + (D2(t;Jα) − Dmax;2)

2
}

dt F6�CG

�� �� ��
����� �� 

������ 
������ ��� ��
��

�������
 �%������������ � ����%�� �� %�
���� α ∈ [0; 1]M ��	 ����	��

min
α = (α1,α2,...,αM)

JM (α).

�
� %����������� 
� �!��'������� '�������� 
!� ����������

/
�� ���
���� �� ��
����� �

���������
� 4! �
�� ��
��
�� �
�������� �� #��
������ 1��������

F#1G� $
�� ��
��	
�� �
� ��� ����
���� ������� �� �
���
������ ����������

�� �
���� �
�� ���
������ ��
��������� ��� �
������� �� ����
��� ��
�
����� �� �� ����
��
� ����������

3
������������
� �� (��� �� 
�
�������� ��� �
������
� ��������! (
���� �
����	����� 0���� �
������
�

�������� ���������� �� �������� ��������
�� 0����� 	�
���� �

���������
� ��� �� ����	��� ��


����� ����	��� ��� ���������� ��� ��� 
��
�
�
���� 3�� 

��
������ �
�� 	�
���� �

���������
�

�
��� ������������ ��� ����� �� �
����	��� 

�����
������ # 
����� �������
�! ��,������ ��

�����

�
�� ��� �� 
��	�� �
�� 
���� ��� �
�	���� ��������
� ��� �

� ������ ���� ������� � �� �������
�

4:



4��� 2(���	��
� �� ��������� �����	����

F�
�! �
�� 	
��
�� ��� ����	���� ��� ������� �� (
�
��
������ ��������G� 0�� ��

����� �
�� ��

����
��
�! ��� ������
�� ��� 
��
�
�
��� �
�� ����	��� �� �� 
�
������� ����� ��� 
��
�
�
���

�� ��� ����	�����

P 3� ��

����� �� ����
��
� ������ �� ������ ���� ��
�� 
��������� 
������� ����	����

�
�� �� �
�	���� ��������
�� 3� ��
�������� �� ��� ������ ��� �
������ ���� ������ ��� 
��

����	���� �
�� ���� ��������

P 3
�� �
��� ������
� �
�� ����	��� 
�
��� �� ������! �� �� ��� ����� ����� �� 
���������

��� ������ �� �
���
������ ���������� ���� �
��� 
��! �� �
����� �� ������
�� �� �������

�� [0; 1] ��� �� �
���� ����
��
��� �����
������� ��� ��� �
� ���(
��� ��� [0; 1]�

P 3
�� �
�� 
�
�������! ��� ������� �
�
������� 
������� �� ����� ����� �
�� �
���� ��� 

�
�	��� ����	�����

3
���
������ ��������� ��� �� ���
������ �

���������
� ��
�����

$
�� �	
�� ������� �� �
��� 1#%@ F	
�� I4℄G ��� ��� ����
����� ��� �� >���

�
� �� �����
� �� ��������� ����������

/
�� �
��� � ������
� ���������! �
�� 
�
�����
�� α ∈ R
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��� 	�
����� �

���������
��

���� 
� 
��! ��� 	������ �� α(t) �
�� ��(��K
���� �
���� ��� 30 ������� �
�� ��� ����
�� �� 24

������� 3� �
������
� �������� ��� 

��
��� �� 6< ����	�����@
�� ��� ����	���� �� �� �
������
�

�������� F
�������� �
�� �� 	�
���� 
������ αG �
�� 
�
���� �����
�������� 3���� 

��
������

������������� � �
�����	���� [0; 1]� $
�� 
�
�����
��

Φo = 120 ���S��
 (D = Φo
−1 = 8.3 10−3 ��
), F6�9G

Dmax;1 = 4 ��
 F6�;G

Dmax;2 = 3 ��
. F6�4<G

3� )���� 6�4 ���������� ��� ��� ��
)�� �� A� �
������ �
�� ��� �
����� ������� �

����	���
�

F�� 0 ������ � 24 ������G� $
�� �	
�� 
�
��� ��� �� A� �
������ �� �� �
��
� F4G ������ ���
�����

�� ����� ������ ��� 
���� �� �� �
��
� F6G ������ ���
����� ������� �
�����&�����

3� ��� ���� ���
� 

����� �� 
���
��� �� ���	��� ��� ����
�� � �� �
��� ��� ��� A� �
�������

$
�� �������
�� ��
�� � ���� ��� ����
��� ������� ���������� �� ������� ��� 

������
��� F��

4<� � 46�8< �� �� 4C�8< � 4;�G� *�)�! �� ��
������ ���
� ��� �� ��
)� �� ��� 
������ α 
����� ���

�
���
������ �

���������
�� ��������� 60 �������
�� �� �
���
������ ��������� 
�� ��� ��
��������

�
�� 
��
���� �� 	�
���� ���� ��

�� �� ������� ��
���� 3� ����� �

���������
� ����� ����� ����

����
�������

3�� ��������� �� 
�������� ���
�� �� �� )���� 6�4 ������������ �� ��
)� ��� ����� �� ���	�
�

�
�� ��� �
��
�� F4G �� F6G �����
��	������ /
�� �� 

�)������
� ��� �
�� �
�� �
���� �
����!

�
�� �
�	
�� 	
�� ��� ��� 

��������� 

�
������ �� ������� �� ���	�
� �
�� �����
���� �N��

�� �� ������� ��� 

������
��� ��� (
�� ���� �� �
������ -��� �������! ��� 

�)������
� ����

���
������ 	�
������ �� ������� �� ���	�
� �������� 0��������! �� ��

��� �

���������
� ��
�	�����

��
�� ��� �
����
� ��� �
����

������ �� ���� �� 
���� ��������

�� ��� ����������� �� �
��� ��� �
��� �
���� ���� 
������� ��� �
����
� 
������� ����� ���� ���� ��


�� �
�� A� �
� 

������
��� ��� ���� �� 
�� �
�� A� 

������
��� ���� ��
����� �� ��������
��

*� �����
�����! �� ��������
� 
��
��� ��� ����� �� ���	�
� �� �

���� �� D = 8.3 10−3 ��

��� F
��
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������
���G �����
� ��� ����� �� ���
��� �� �

���� �� 4 ��

���� F
�� 

������
���G! 
� ���

���������� �� ����
�� �� ������� 500 ����� ��� ��� �
���� � ������� 3� ��
����� �

���������
�

���� �	
�� ��������� ������ �� ��,������� ������������
�� ���	��� 

������ � ��,������ ������

����������� 0��������! �
�� �
�	
�� 
����	�� ��� �
�� ��� ������ ������� ��

��� ��� ��� ���

������� /��� ���
�������! 
�� ������ �
�� �
�� ��

��� �� �� (
�
��
� ��������� �� ����� L

αc(t) =
Φ1(t)

Φ1(t) + Φ2(t)
.

0���� (
�
��
� αc 

�����
�� �� ����
�� �� A� �
������ �� �� �
��
� F4G ��� �� A� �
���

�� ����� t� /�� 

��������! 
���� (
�
��
� ��� �
�� �
�	
�� 

�������� 

��� ����

����



���
������ �� �
����
� 
������� ���� N��� �������� �
�� �� 

������ �� ����� ���� �� �� 
���
���

� ���
��� � 
����� ���	��� 	�������

47



4��� 2(���	��
� �� ��������� �����	����

0 5 10 15 20 25
0

50

100

150

A
r
r
iv

a
l 
r
a
t
e
 
1
 

 
a
n
d
 
2
 
(
s
−

1
)
 

 

0 5 10 15 20 25
0

50

100

150

S
u
m

 
o
f
 
a
r
r
iv

a
l 
r
a
t
e
s
 

 
 
v
s
 
C

a
p
a
c
it
y
 
(
r
e
d
)

 

0 5 10 15 20 25
0

0.5

1

A
lp

h
a
 
o
p
t

Time (hour)

0 5 10 15 20 25
0

1

2

3

4

S
e
rv

ic
e
 T

im
e
 1

 (
s
)

0 5 10 15 20 25
0

1

2

3

Time (hour)

S
e
rv

ic
e
 t

im
e
 2

 (
s
)

 ��
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� �� �� 
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��
��� 3� �
��� ��� A� �
������



������ �� A� �� �
���� F
���
��� �
���� �� ���	���G �
���� ��� ��� ����
�� �� ��������
��

$
�� �	
�� ���������� ��� ��
)�� 

�����
������ �� α �� ��� ����� �� ���	�
� 
�������� �
�� ���

�
��
�� F4G �� F6G ������� ��� �
������
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 �� �� 
���
	�� ��������

�
��� ���� ����
�� ���
 ����
�	� ��

"���	�� �� ����	
� ���� �� ����	
��

����
�

���� �
� ����� �� 
������� ���
�����! �
�� �
�� �
���� ���������� � �
���

���
� 
������� ��

�� 
���
��� �
�� ���	��� ����� ��� ����� �� ����N��� ��,�������� $
�� ��	�
�� ��
�	�� �� �������


������ �� �� 
���
��� �
�� ���	��� �)� �� �������� ��� 
������� ������� �� ���	�
� �
�� ��� ��� 

����� �� ����N���� ���� 
� 
�������! �
�� 

������
�� �� 
�� 
H ����� �� ������� �� ���	�
� ��

������� ���� �� ����N��� ��� ���
���� 3� ������� �� ���	�
� �� ��� ���� ���� �� ����N�� �
���

�
� ��� ���
��������

�
	 %����������� 
�  ��&���� 
!� ����������

$
�� 

������
�� ���������� �� 
�� 
H �� � ���� ��� �
��
�� F4G �� F6G ������ ��� �� �
��
� F4G

�
�� ���
������� ��� ����
�� � �� �
��
� F6G� #���� ��� A� φi,1 �� φi,2 �
�� ���� ��� φi,1 << φo� $
��

�
� 
��
�� ��� �� 
�� �
�� ������ ���������� �� ������� 

������
��� L �� �
��� ��� A� �
������

(φi,1 +φi,2) ���� N��� ���� ������ ��� �� 
���
��� �
���� φo� 3� �������� �
��
� (1) �
�� �����(����

�� ������� �� ���	�
� � ������� �� (��� ��� �� ����� �� ���	�
� �� �
�� ��� �������� �� 

�������

Dmax;1� �� �� �N�� ������� ��� ���� �� ��
����� ���
�����! �
�� �������
�� �� 
���
��� ��

������� ���� ����� ��� ���	���� 	������� �� 
���
��� �����
��	� α(t)Φo �� (1 − α(t))Φo� 3��

����N��� �� �� �������� �
��
� �
�� �������� ��� �� ������� ���	��� 	������ ������ ��� ��� ����N���

�� �� ��

��� �
��
� ���	��� N��� �������� � �� (
�� ��� �� ������� ���	��� �� �� ��� ���� ���	���

�	�
 ��� A� �
������ 	����� β(t)φi,2(t) �
�� �� ������� ���	��� �� (1−β(t))φi,2(t) �
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� �
�
���� ���� �
�
���� �
�� �� (
��� �
�� ������� ������
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����	���( �	�
 �� ����� �
��
� I8℄ L






∂tρ + ∂x(ρv) = 0,

∂t(ρw) + ∂x(vρw) = C
ρ

Tr
(V (ρ) − v),

F6�:G


H ρ ������� �� ������� �� v �� 	������ ��� 	���
����� 3�� 	�������� 

����	���	�� �
�� ρ �� ρw �	�


w = v + P (ρ)� ���� 
� ��� ����! �
�� 

��������
�� ��� (
�
��
�� P ��)���� ��� ]0;+∞[ ���

P (ρ) =
vref

γ

(

ρ

ρm

)γ

�
�� γ > 0, �
���� Mγ F6�5G

��

P (ρ) = vref ln

(

ρ

ρm

)

�
�� γ = 0, �
���� M0. F6�7G

3� �
� P ������� �
����
�����
� ��� 

���
����� ��� ����
�� � 
� ��� �� ����� ��� �� �
��� ��	���

����� 	���
����� �� �

� �
��������� � �� ����	�� �� P ��� ����
�� � ρ! �
�� �������
�� ��� �� �
����

M0 ��� �� ������ �� �
���� Mγ �
����� γ ���� 	��� 0� 3� ��������� γ ��� ��� 

������� ���������

�� �
���� 
�
����� 3� ������� �� ����� ρm 

�����
�� � �� ������� �
�� ���
��������� F
H ���

	
������ �������� =����&
�

� 

���� ����&
�

�=G� 3� 	������ vref ��� ��� 	������ �� ��(����
�

�
�����

$
�� ����
����
�� �� 	�
���� U 

��
�� ��� 	�������� 

����	���	��

U = (ρ, ρw)t


H �
� �
���� t �����)� ������
��� 3� ������� F6�:G ���� �
�
���� �
�� �� (
��� 	�
�
������ L

∂tU + ∂xf(U) = σ(U), F6�CG


H f(U) = (vρ ; vρw)t ��� �� A� �� σ(U) =

(

0, C
ρ

Tr
(V (ρ) − v)

)T

��� �� ��

�� �������

3
����
� ��� ����� ����������� Ωad ��� �
�

Ωad =
{

(ρ, ρw) ∈ R
2/ 0 < ρ < ρm, 0 < v < vm 
H v = w − P (ρ)

}

F6�9G
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*���	��� 4� @������� �(������ �� ���
��� �� ���$
 ����	��


H vm ��� �� 	������ �� ����� ��� 	���
����� $
�� �
�
�� A(U) = ∂Uf(U) �� �����
� ��

������

�� f ��� ����
�� �� 	�������� 

����	���	�� ρ �� ρw� $
�� 
����
�� ����� �� ������ 
��
��

A(U) =

(

−ρP ′(ρ) − P (ρ) 1

−w2 − ρwP ′(ρ) 2w − P (ρ)

)

. F6�;G

3� ������� �� #>&?��
�� ��� ����
������ ������
����� ���( �
�� ρ = 0 �� v = 0� *� �,��! ���

	������ ��
���� �� A(U) �
�� L

γ1 = v − ρP ′(ρ) = w − P (ρ) − ρP ′(ρ), F6�4<G

γ2 = v = w − P (ρ). F6�44G

#> �� ?��
�� 
�� �
���� ���� ���� ����
�� I8℄ ��� �� 	������ v ������� ���� �
�����	���� [0; vm] ������

��� �� ������� ρ ������� �
����	� ��� ��� ρ(x, 0) ≥ 0 �� ��� �� �
���� �������� v(x, 0) ����������� �

[0; vm] �� � [0; vm−P (ρ(x, 0))]� 0���� �������� 

�����
� ��� ���
����������� 	���)�� �
� �������

P ��� ��� (
�
��
� �
����	�� *� �����
�����! �� 	����� ��
��� γ2 ��� �
��
��� �
����	� �� γ1 < γ2

�
����� ��� 
�
� �
������� �
�� �� (
�
��
� P � 3�� 	�
����� ��
���� ���

��� �����
��	����� � γ1

�� γ2 �
��

r1 =

(

1

w

)

�� r2 =

(

1

w + ρP ′

)

.

���� �� �����! �
�� ��
��
�� �
�
���� ��� 	������ ��
���� �
�� �� (
���

γ1 = v − c, γ2 = v,

�	�
 c = ρP ′(ρ) > 0� $
�� ��������
�� c �� 	������ �� �
� �� A����� �� �
� � ��� �� ����
� ���&

����� �����
������ �� �
���� 
���� �������� �����! 
� 	

�������� ��� ���������� ��� ��(����
�

� �� ��������� ��� ��W� �� �N��! �
�� ���
�� ��� �� A� ��� ������
����� �
����� γ1 > 0

�� �
�� ���
�� ��� �� A���� ��� ����
����� �
����� γ1 < 0� *�)�! �
�� ���
�� ��
�� ���� ���

�
����� �
����� γ1 = 0� �� ��� (�
��� �� �
����� ��
�� � ���� ��� 

�)������
�� ��� ���������� ��

A� �� ������ ����
������ 3� ��
�
����
� ��� ���� �
�� ���� ����� �
�� ������� �� ��
����� �
����&

������
� �� �
������ 3� ��
�
����
� 4 �
��� �� � ����� �� 
�
� �
������ �
�� �� ��������� vref �

����������� � *���	������ �� ���
�� M0# F6�7G� �	 �� %	����� �� ��!����
� vref ��� ����� ���

vref = µ vm, µ > 1.

����� �� B�( ����� ������	��� <γ1 < 0=�

������� /
�� �� �
���� M0! F6�7G! ρP ′(ρ) = vref � #���� γ1 = v − vref < 0 
�� v ≤ vm < vref �

�
� *  ���������� ���������

���� 
���� ��
��
�! �
�� �����
�� 

�������� ��� ����
 �����
� ���
���� Uh �� �� �
����
� U

�
�� �� ������� F6�:G� $
�� 

������
�� �� �������� �� ����
� �� �� ����� 

������� �� 
�������
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4�5� �����(	���	�� �����	���

In
i =]xi− 1

2
, xi+ 1

2
[×]tn, tn+1[! xi− 1

2
= ih! tn+1 = tn + ∆tn �� �� �
���� (xi, t

n)� $
�� ����

�
��

��� (
�
��
� ���������� f ��� 
����� 
������ In
i ��� �� 	����� �
����� ��� 
���� 
������ L

fn
i =

1

|In
i |

∫ ∫

In
i

f(x, t) dx dt.

3� �
����
� |In
i | ������� �� ������ �� 3������� �� �� 
������ In

i � 3� ��� �
����
� h ��� ����
��



������ Z �� ��� �� ����� ∆tn = tn+1 − tn ���� N��� 	�������� $
�� �
�
��

λn =
∆tn

h
,

�� ��
����� �� ��� �
����
� �� �� ��� �� ������ $
�� �	
�� ��
��� �
�������� �� �
���� �� ?
� I68℄



��� �
���� ��������� 

����	���( �� (��� �� �� ������
��� � ������������

0
	��� �
 7�


3� �
���� �� ?
� �
�
��� �
�� �� (
��� 

����	���	� L

Un+1
i = Un

i − λn
(

φn
i+ 1

2
− φn

i− 1
2

)

. F6�46G

�
� A� ��������� ��� ��
��

φn
i+ 1

2
= φ(Un

i , Un
i+1)

�	�


φ(U, V ) =
f(U) + f(V )

2
− 1

2
|Ā(U, V )|(V − U) F6�48G


H |A| ��� ��)��� ��� |A| = R ����(|γi|)R−1 �
����� A �� ����
������ �
�� �� (
��� Γ = R−1 AR�

���� �� �����! �
�� ��������
�� ��� �
����
��

Ān
i+ 1

2

= Ā(Un
i , Un

i+1), fn
i = f(Un

i ).

3� �����
� ���������� �� ?
� Ā(U, V ) ��� ��� �����
� ��� ������� ��� ��
�� 

�����
�� �
����� ���

?
� I68℄ L ��� 

����
� �� 

�������
�! ��� 

�����
� �
������
��
��� �� ��� 

�����
� ����������

�

������ �� �
���� �� ���� 1
���
	 L

∀U ∈ Ωad, Ā(U,U) = A(U), F6�4:G

∀(U,U ′) ∈ (Ωad)2, Ā(U,U ′) ��� ����
���������, F6�45G

∀(U,U ′) ∈ (Ωad)2, Ā(U,U ′)(U ′ − U) = f(U ′) − f(U). F6�47G

*� �����
�����! �� 

�����
� F6�47G ������ �� ������������� �� �
���� �� ?
� 

��� �� �
����

�� 1
���
	� *� �,��! �� �
���� Ā+ F�����
�	%����� Ā−G �� ������ �
����	� F�����
�	%����� ��

������ ������	�G �� Ā! ��
�� �� �
���� �� ?
� ���� �
�
���� L

Un+1
i = Un

i − λn

(

Ān,−

i+ 1
2

(Un
i+1 − Un

i ) + Ān,+

i− 1
2

(Un
i − Un

i−1)

)

. F6�4CG

3� �
���� �� ?
� ��� ����� �� �
���� =��>���=� 3� 

�����
� �� ��������� �
�� 
� �
���� ���



������� ��� ��� 

�����
� 
�������� �� 0
�����&�������
��&3�>� F0�3G� 3� ��
�
����
� ���	����

(
����� �� 
������� �
�� �� �����
� �� ?
��
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*���	��� 4� @������� �(������ �� ���
��� �� ���$
 ����	��

����������� � +� ����	
� ��	%���� ���	�!�	� ��( ���	� 
���	�	��� F6�4:G7F6�47G -

Ā(U,U ′) =

(

−ρP (ρ)−ρ′P (ρ′)
ρ−ρ′ 1

−ww′ − ρw+ρ′w′

2
P (ρ)−P (ρ′)

ρ−ρ′ w + w′ − P (ρ)+P (ρ′)
2

)

���� ρ �= ρ′ F6�49G

��

Ā(U,U ′) =

(

−ρP ′(ρ) − P (ρ) 1

−ww′ − ρw+w′

2 P ′(ρ) w + w′ − P (ρ)

)

���� ρ = ρ′. F6�4;G

������� ?������
�� �
��
�� ���

lim
U ′→U

Ā(U,U ′) = Ā(U,U) = A(U).

$
�� ��
�	
�� � ������� ��� Ā(U, V ) ��� ����
���������� $
�
�� ∆ �� ���
�������� �� �
������


���
���������� �
�� �� �����
� Ā(U, V ) �	�
 U �= V � $
�� �
�
��	
�� ����� 
��
��� �
�� �� (
���

�
��� �
��� �� ��� 
����� ���� �� 
�� ρ �= ρ′ L

∆ = ρρ′
(P (ρ) − P (ρ′))2

(ρ − ρ′)2
+

(

P (ρ) − P (ρ′)

2
− (w − w′)

)2

. F6�6<G

#���� �� ���
�������� ��� ����
������ �
����( �� ρ �� ρ′ �
�� �
�� ��� ��� ��,������ �� W��
� $
��

�� ������
�� ��� Ā � ��� 	������ ��
���� ������
��� ��� �
�
��	���

γ1 = 1
2

(

−ρP (ρ)−ρ′P (ρ′)
ρ−ρ′ + w + w′ − P (ρ)+P (ρ′)

2 −
√

∆
)

,

γ2 = 1
2

(

−ρP (ρ)−ρ′P (ρ′)
ρ−ρ′ + w + w′ − P (ρ)+P (ρ′)

2 +
√

∆
)

.
F6�64G

�� �� �N�� �������! �
�� 
����
�� ���� �� 
�� ρ = ρ′, w �= w′ L

∆ = ρ2P ′(ρ)2 + (w − w′)2 F6�66G

��� ��� ��

�� ��,����� �� W��
�

7
���!�
 � '��� ���%��� ����	 
��
���� |Ā(U, V )| �(��	
	������� '��� �������� �� �"�� !�7


	������ ��� %�
����� ������� r1 �� r2 �� Ā(U, V ) ����
	�� ��( %������ ������� γ1 �� γ2 -

r1 =

(

1

γ1 − a

)

, r2 =

(

1

γ2 − a

)

, F6�68G

�C a = −ρP (ρ)−ρ′P (ρ′)
ρ−ρ′ �	 ρ �= ρ′ �� a = −ρP ′(ρ) − P (ρ) �	 ρ = ρ′� '��� ����%��� ����� ���
�


��
���

|Ā(U, V )| =
1

γ2 − γ1

(

a11 a12

a21 a22

)

F6�6:G

�%�


a11 = |γ1|(γ2 − a) + |γ2|(−γ1 + a),

a12 = |γ2| − |γ1|,

a21 = |γ1|(γ1 − a)(γ2 − a) + |γ2|(γ2 − a)(−γ1 + a),

a22 = −|γ1|(γ1 − a) + |γ2|(γ2 − a).

$
�� �������
�� �
� �� ����� �
���� ��������� 

����	���(�
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���	�	��� ��( �����

0
	��� � �����
� #��� � 8�� 
���
�������!�
 9:..�;

3� �
���� ���0 F	
����� )��� � A� 
���
����������G � ��� ����
���� ��� 1��������! T�����


�� 3� 0
� I46℄ �
�� ��� 
��
��� 

���� �� � 	
����� )���� *� �����
�����! 
� �
���� �	��� ��


��
�� ��� �����
�� ����������� �� ?
�� /
�� 
� �
����! �� A� ��������� �
�
���

φ(U, V ) =
f(U) + f(V )

2
− 1

2
���(Ā(U, V ))(f(V ) − f(U)) F6�65G


H sgn(A) ��� �� (
�
��
� ����� ������� �� �����
��� *��� ��� ��)��� ���

sign(A) = R ����(���(γi))R−1

�
����� A �� ����
������ �
�� �� (
��� Γ = R−1 AR! 
H sgn(a) ��� �� (
�
��
� ����� �������

��)��� �
�� �� ���� a� ���� 
� 
��! �� �����
� Ā(U, V ) ��� ��� �����
� ����
��������� ��� 	���)�

�� ����� 

�����
� �� 

�������
� Ā(U,U) = A(U)� $
�� 

��������
�� �� �����
� ���0 ���	����

Ā(U, V ) = A

(

U + V

2

)

.

3� 
��
�� �� �� �����
� Ā ��� ��
�� ���� �������

�
# ,��������� ��������� 
�� 
��
������ ��� &��
�

���� 
���� ������! �
�� �
�� ���������
�� �� 
�� ����������� ��� 

�����
�� �� �
��� ����
&

������� ���� 
� 
��! �� � ���� ��� 
���
���������� �������� ��� ���
��� �� �
��(
�����
� 	����� ��

�
� ������� �� ��� 
���
���������� �
������ ��� (
����� �� �
��(
�����
� 	����� �� �
����������

���������� ��� ����� 
� ����� x = 0

$
�� ����
����
�� ��� 
������ =(������= )
��	� 

������� �� ���� 	������� 0�� ���� �
��

������ �� 
��
���� �� A� � �� (�
������ � �
���� �� �� (
����� �� A� ���������� 3
�	������ ��


���� ����

�� ��� �

������ �� A� ��������� �������� � �� (�
������� $
�
�� Un
1 �
���� U ���� ��

�������� 
������ �� �
����� [x− 1
2
, x 1

2
]! 
H x− 1

2
= 0� $
�� ��	
�� ��
�	�� �� ���� (������ Un

g �

���
�� �� �
���� Un
1 ! ��� �
�� �
�
�� Un

g = (ρn
g , ρn

g wn
g )� /
�� �� A� ����
�����! �
�� ���
�
��

�� ����� �� ��
�� qn! �� �
��� ���

ρn
g vn

g = qn.

3� ��

��� 

�����
� ��� ������ �� ��)��� 

���������� Un
g �
�� N��� 

�������� �	�
 �� (���

��
��� 
���
���������� �
�� �
���� �� �
������ ���� 
� 

��� ��! ��� 

�����
�� �� �
��� (
���&

���� �
� ��������� ���	��� N��� �������� �� ��������� ��� ����&��
������ �� ?������ F���
�� ��

3� ��

� I44℄G� 3� ��
����� �� ?������ ����� �
�� �
����� ���������

U(x, 0) =

{

Ug �
�� x < 0

Un
1 �
�� x > 0

F6�67G

�
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/
�� �
��� ��
�����! �
�� ��������
�� ������ ��� ����

�� ������)�� ��������� ��� �����������
�

�

��� �� �������� 3� 

����������� 

�
������ �� �
���� �

���� �
������� ��� ����� ���� ������

� � ������ L ��� 	������ ��
���� γ1(Ā) �� γ2(Ā) �
�� �� �����
� 
��
���� � �� (�
������ Ā(Ug, U1)

�
�	��� N��� ������	� �� �
����	� �����
��	������ $
�� 

������
�� �
� ��� �����������
� �

��� ��

A �
�� �� (
��� A(U ′) 
H U ′ = (ρ′, ρ′w′) ��� �
���� � �� (�
������ ��������� �� Ug �� U1 �	�


ρ′ =
ρg + ρ1

2
, w′ = v′ − P (ρ′), ρ′v′ =

ρgvg + ρ1v1

2
.

#���� �
�� 
���
�
�� �
���� (������ Ug ��� ���

γ2(U
′) =

ρgvg + ρ1v1

ρg + ρ1
> 0 F6�6CG

γ1(U
′) =

q + ρ1v1

ρg + ρ1
− ρg + ρ1

2
P ′

(

ρg + ρ1

2

)

< 0. F6�69G

$
�� 
����
�� ����� �� �������� ���	��� L

�����������  ���� �� ���
�� M0# F6�7G# ��� ����	�� ����	��� ���������� �6�%�	� �� B�( ���7

���	��� 0 �� !����	
�� ���

ρg = max

(

ρ1,
q + ρ1v1

vref
− ρ1

)

. F6�6;G

������� 3� �������� 

�����
� F6�6CG ��� �
��
��� 	���)��� 3� 

�����
� F6�69G ��� 
������ ���

��� L
q + ρ1v1

ρg + ρ1
− vref < 0

#����

ρg >
q + ρ1v1

vref
− ρ1. F6�8<G

���������� ��� ����� 
� ���� x = L

$
�� ��
���
�
�� ���������� �� ���� (������ Un
g �� (
�
��
� �� �
���� Un

I � 3� 

�����
�

�� �	�� ���
��� ��� �� 	������ �� A����� $
�� ��

��
�� �� �� �N�� (�'
� ��� ���
���������

$
�� 
���
�
�� ��� �����������
� �� �� �����
� ��

������ �

��� �
�� �� (
��� A(U ′)� 3
���� �

�� (�
������ U ′ ��� ���

ρ′ =
ρg + ρI

2
, w′ = v′ − P (ρ′), ρ′v′ =

ρgvg + ρIvI

2
,

�
�� 	���)�� ��� 

�����
�� �� 

����������� ��� �� ����� ��� 	������ ��
����

γ1(U
′) =

ρgvg + ρIvI

ρg + ρI
> 0, F6�84G

γ2(U
′) =

ρgvg + ρIvI

ρg + ρI
− ρg + ρI

2
P ′

(

ρg + ρI

2

)

< 0. F6�86G
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� ���	�����
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4��� 2(���	������	�� �����	���

����������� & ���� �� ���
�� M0# F6�7G# �	 vref > µ vm# µ > 1 ����� ��� ����	�� ����	���

���������� �6�%�	� �� B�( ������	��� 0 �� !����	
�� ���

ρn
g = ρn

I . F6�88G

������� 3� 

�����
� F6�84G ��� �
��
��� 	���)��� 3� ��

��� 

�����
� ��� 	���)�� ��� ���

ρgvg + ρIvI

ρg + ρI
− vref < 0. F6�8:G

%� vg < vref �� vI < vref � #���� 
���� 

�����
� ��� �
��
��� 	���)���

�
$ �� ������������ ���������

$
�� �����
�� 	������ ��� �
����� ���������� ��� �
�� �	
�� ��
������� �	��� �� ��� ��������

�
�� �� ��
����� �

���������
�� $
�� 

������
�� ��� 
�� ���� ��
�
��� ���� I6℄� �� �
���� �
��

��
����� �� ?������ �	�
 ��� 

�����
� �������� Ft = 0G 

�������� �� ��� ����� 

�������� 3��

��������
�� 

�
�����
�� �� 
�� �
�
���� C = 0 ���� �� 
�� �
� �
�
���� C = 1� 3�� �����



������� UL F� ���
��! x < 0G �� UR F� ��
���! x > 0G �
�� ��)��� ��� �� �
���� ��� 	������ ���

	�������� �������	�� L
{

ρL = 0.05, ρLvL = 0.0025, vL = 0.05

ρR = 0.05, ρRvR = 0.025, vR = 0.5.
F6�85G

3� ��� �
����
� ��� h = 1
40 �� �� ��� �� ����� ��� 
�
��� �)� �� �����(���� �� 

�����
� 0�3 �	�


�� �
���� �� 0
����� ��(������ � 1� $
�� 

������
�� �
�� �
��
�� �� �
���� M0! F6�7G �	�


γ = 0 �� P (ρ) = 2 ln( ρ
ρm

)! ���� �� �
���� Mγ ! F6�5G �	�
 γ = 1 �� P (ρ) = 6 ρ
ρm

� ���� �� 
�� �
�

�
�
����! �
�� ����
�� C = 1! T (ρ) = 20 ��

V (ρ) = vm

π/2 + arctan(11ρ−0.22
ρ−1 )

π/2 + arctan(11 · 0.22) . F6�87G
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3�� )����� 6�6 F�
���� �� ?
�G �� 6�8 F�
���� ���0G �
��� ���� �� ��� )����� 6�: F�
����

�� ?
�G �� 6�5 F�
���� ���0G �
����� ���� �
������ ��� �
����
�� �� ����� )��� t = 100 ����

��� 
�� γ = 0 �� γ = 1 �����
��	������ ���� 
� ����! �
�� �
�	
�� 
����	�� �� ������
� �
�� 
�
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� ���
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����

�� ?
� �� �� �
���� ���0 �� �
�� ��� ��� �
����� ����
������� /
�� �� ����
�� �� ?
�! 
�

���� ���	�� ��� ��������� �� D����� I48℄ �� �
�������� �� �����
� |A| ��� R ����(ψǫ(γi))R−1


H ψǫ(x) =
√

x2 + ǫ2� @
�� �� ����� 

��� �� �
�� ������
�
�� ��� 	������ ���
���� |γ1| �� |γ2|
��� ψǫ(γ1) �� ψǫ(γ2) ���� F6�6:G� $
�� ��	
�� 
�
���� ǫ ����W �����! ǫ << γi �)� �

������ ���

�
��� ����
 �����
� �� �� 	����� ���
��� ��� 	������ ��
����� %� ��� 	������ ��
���� �
�� ��

�N�� 
���� �� �������� ��� �� 	������ ��� 	���
����� #���� �
�� �
�	
�� 
�
���� ǫ = vmax
100 � 3�

�
����
� ��������� ��������� ���� �� )���� F6�7G �� (��� ���� ������K��� �� 
�

 �
����
���� 3��

��������� �
�� �����(��������
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*�)�! ��� )����� F6�CG �� F6�9G ������������ ��� 
�� γ = 0 �� γ = 1 �����
��	����� �	�


�� ����� �� ���� ���
� �
�� �� �
���� �� ?
�� 3�� ��������� �
�� �� ��

�� ���� �����(��������
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�� ��������
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����
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�� �������
�� ���� 
� ���������� ��� ��,������� 	�������� �� ���)
 ��
�
�

������� 3��

	�������� ������ �
�� ��� �
����� �� ���)
 �
����� �
�� �� 	������ �� �� �������� 0�������� ���

�
����� 
����	����� �� ������� �
�� �� ����� �� �� ��� �



�����
��

!$�$� %
 �
���

3� ����� �
��� q(x, t1, t2) �� �
��� �
���
���� x �� ����� ��� �������� t1 �� t2 ��� ��)�� ���

q(x, t1, t2) =
n(x, t1, t2)

t2 − t1
F8�4G


H n(x, t1, t2) ������� �� �
���� �� 	���
���� ������ �� x ����� ��� �������� t1 �� t2�

*� ��������! �� ����� ���� N��� ��������� ��� ��� 

������� ��� �� �
����

�� ��� ��
������� �� 

���K��� �� ����� q(x, t) �� �
�� �
��� �
���
���� x �� �� �
�� ������� t �
��

��� �
����� =A����= �� ���)
 �
������ %� ��)��� ��
��

q(x, t) = lim
∆t−→0

q(x, t − ∆t

2
, t +

∆t

2
). F8�6G

*� ��������! �
�� �� ��� �	
�� �� ����� ��)��! 
� �
��

q(x, t) = q(x, t − ∆t

2
, t +

∆t

2
) F8�8G

�
�� �� ������� 	������ �� ∆t�

!$�$� %� �
����


3� ������� �
����� ��� 	���
���� ρ(x1, x2, t) ����� ��� �
���� �
���
����� �����
��	�� x1 �� x2

�� � �
������� t ��� ��)��� ���

ρ(x1, x2, t) =
n(x1, x2, t)

x2 − x1
, F8�:G
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���
���� x �� � �
�� ������� t� %�

��)��� ��
�� L

ρ(x, t) = lim
∆x−→0

ρ(x − ∆x

2
, x +

∆x

2
, t). F8�5G

*� (���! 
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��

ρ(x, t) = ρ(x − ∆x

2
, x +

∆x

2
, t). F8�7G
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�� �� ����� q(x, t) =

q(x, t − ∆t
2 , t + ∆t

2 )! 
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������ �� ������
�

τ = (L + l)ρ F8�CG


H L ��� �� �
������ �
����� ��� 	���
���� �� l ��� �� �
������ �� �� �
�
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3� 	������ �� A
� ��� ��
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v(x, t) =
q(x, t)

ρ(x, t)
. F8�9G
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��� ��� �� ������
� �
��

(�� ���

�
���

3� ��
����� ��� ��
�� �� ���	��� L

�������
 �%������������ � <���	�	���	�� �� �������=�

2���� ����� �� �������� �6�����%��	��� (ρn
j , vn

j )j,n �� ��� ��	��� (xj , t
n)j,n �� ����	�� [0;L] ×

[0;T ]# ����%�� ��� 
���	�	��� 	�	�	���� (ρi, vi) <�6	��	
� i �	 �	$� E	�	�	��E=# �� �%������������ ��


���	�	�� ��( ����� �� ����� t 
→ q(t) ������ ��� �� �����	�� U(x, t) = (ρ, ρw)t �� ����
�� ��

�,7A��
��


























∂tρ + ∂x(vρ) = 0,

∂t(ρw) + ∂x(vρw) = 0,

(ρv)(0, t) = q(t), v(L, t) = vd(t),

ρ(x, 0) = ρi(x), v(x, 0) = vi(x).

F8�;G

�	�	�	�� ��� 
����	�� !��
�	�� �� 
�F� J # ��	 ������ �� �	"����
� ����� ��� %������ 
��
����� ��

�� ����	�� �� �� �� %	����� �� (xj , t
n)j,n �� 
���� �����	�� �� ��� %������ �����%��� (ρobs

j , vobs
j )j ��
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��	�� ��� ���������� ��,������� �
�� ��������� 
�� �
����� 
����	��� �)�

�� ��
���
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�����
�� ��������� �� ��� 

�����
�� �� �
��� ���� �� 
�� �
�� ������� ��&

����
������

3� �������� ��������� ��� ���� �
��� �� ���� ���������� $
�� 

������
�� � �� (
�� ��� 

�����
��

��������� (ρi, vi) ��)���� ��� [0;L] �� �� 

�����
� �� �
��� ��������� �� ����� q ��)��� ���

[0;T ] 

��� 	�������� �� 

������� 3� 
���� 
��
��� (ρ, v) �� ����� )��� t = T �
�� N��� ���

(
�
��
� 

������ �� (ρi, vi) �� �� q�

���� �� ��� ���� ���������! �
�� ��
��
�� �� 

�������� ���������� ��� 

�����
�� ���������

(ρi, vi) 

��� 	�������� �� 

������� �� ��� �	����� ��� �
�� ��	
�� ������
�� �� 

�����
� ��

��
�� ��� ��� ����� ��(
�����
� �
�� ������� �	
�� � �
�	��� �� ��
����� ���� �
��� #����

�
�� �����
�� �� �
����� ������� �� ��
�� �� �
��� ��
��
� �� �
��� ����������� ��� [0, L] �

�� �
����� [−L′, L]� 3� �
������ L′ �
�� N��� ����W ������ �
�� (
����� ��Q������� �
��(
�&

����
��� ���� 
���� ���������! �
�� �	
�� ���������� ���
�� �� ����
�	�� �� 

�����
� �������

F�������G ������� �� 

�����
� �� �
��� � x = 0 ��� �������� ���� �� 

�����
� ��������� 0����

��

��� ��������� ��� �����
���� ��2
� � �� ������ ������
����� �� �
���� *�/ �
��&��
����

3� )���� 8�4 �G 

�����
�� � �� �������� ���������� *��� ���������� �
��(
�����
� ��
	����� ���
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��(
�����
� ��� ��
	���� ���������� �� �� 

�����
� ��������� 3� 

�����
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�� ��
�� ��	���� ��������
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����� � ��� ���� �� 
��	�� ��������� ���
�)���� ���� ��� ��� ������� ���

L
0 x

T

t t

0

T

−L’ L x

 ��
 8�4 P 3�� ����
��� =×= ��������� ��� �
���� �� ������� �� (xj, t
n)� �G /������� ��������� L

��(
�����
� ��
	����� � �� (
�� ��� 

�����
�� ��������� ��� ]0, L[ �� ��� 

�����
�� �� ��
�� ���

[0;T ] Z �G ��� ���� ��������� L ��(
�����
� ��
	����� ���������� ��� 

�����
�� ��������� ���

] − L′, L[�

���	��� �
�� �������
�� ��

����	����� ��� ��� ���������� ����� ��� ��� � ������
�� �����������
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�
�	�	�
� 	
	�	���� �� ��� �����

$
�� 

������
�� �� ������� �
�
���� �� #>&?��
�� ��� �� �
����� [0;L] × [0;T ] �	�
 ���



�����
�� ������� �� �
��� F03G � 
����� (�
������ L



























∂tρ + ∂x(vρ) = 0,

∂t(ρw) + ∂x(vρw) = 0,

+CL : (ρv)(0, t) = q(t), v(L, t) = vd(t),

+CI : ρ(x, 0) = ρi(x), v(x, 0) = vi(x).

F:�4G

3� ������� �� #>&?��
�� ��� ������
����� �	�
 ��� 	������ ��
���� γ1 = v − c �� γ2 = v� #����

��� 

�����
�� �� �
��� �� ��
�� �
����� ���� F:�4G ���
���� �� A� �
N��� ����
������ ����

�� 
�� 

�������! ��� ��� ���� 

�����
� �� ��
�� ������ ��
�������� �� �N��! ��� 

�����
�� �� 

�
��� �� �	�� ���
���� �� A� �
N��� ����
������ ���
�! �� �
� ������ ��� �� 

�����
�� �� �	���

$
�� ������
�� ��
�	�
 �� 
�
� �� �� (
�
��
� P ���
� �� �
���� M0! F6�7G �� 
������� 6! ��

��Q� �� 
�
���� vref = µ vm! µ > 1 �
�� ��� �� A� ����� ����
����� F��
�
����
� 4G� $
�� �
��

���
��
�� ���
����� ���� 
� 
��� #����! �� ��
����� F:�4G ��� ���� �
���

�
	 ����� 
!��� .��
��������� 
� 
�/�

$
�� �����
�� ������� �� ��,����
� ����� ��� 	������ 
��
����� ��� �� ���
����
� �� �������

�� #>&?��
�� �� ��� 	������ 
����	���� $
�� ����
����
�� ����� �� (
�
��
������ �� 

B� ���	����

JN =
1

2

1

N

N
∑

j=1

(

ρ((x, t)j) − ρobs
j

ρc

)2

+
1

2

1

N

N
∑

j=1

(

v((x, t)j) − vobs
j

vc

)2

. F:�6G

3�� �������� ρobs
j �� ��� 	������� vobs

j ��������� ��� ��������� 
����	��� �� N �
���� ((x, t)j) ��

�
����� �����
&����
���� 3�� ������ ρc �� vc �
�� ��� �������� �� ��� 	������� �� ��(����
� 
�
�����

�
�� ������ ��� ��������� ���� �������
�� /�� � �����! �
�� �
�	
�� ������� �� �
����� ���

�������� 
����	��� �
�� ρc �� �� �
����� ��� 	������� 
����	��� �
�� vc� $
�� 	
��
�� ���������

JN �� 

��������� ��� 
���� (
�
��
������ ������ �� 	�������� �

���������
� ��� �
�� �
��� ����

:;



*���	��� 5� ���
��� �6���	�	���	�� ��� ��� 
���	�	��� 	�	�	���� �� ��( �����

��� �
����� ��������� (ρi, vi) �� �
����� ���� ��� 

�����
�� �� �
��� �� �	�� q�

$
�� �����
�� ������� �� 

���� ��� 

��������� ��� �� ����� ��� 	�������� �

���������
� L ���

��������� ρi! vi �� q �
�� ��� (
�
��
�� �
����	��� $
�� �
��	
�� ��
�� 
�� (
�
��
�� 

��� ���

������ ��� (
�
��
�� α! β �� γ ��)���� ���

ρi = ρc φǫ(α), vi = vc φǫ(β), q = qc φǫ(γ). F:�8G


H ρc! vc �� qc �
�� ��� ��������� 
���
����������� ��� �
�� ����
�� ������ �� ��������� ��

��(����
�� ��������� ���� �
� ������
� �� �� (
�
��
������� 3� (
�
��
� φǫ ��� �� C1&��,�
�
�������

�� R ���� ]0;+∞[� 3� 	����� �� φǫ(x) �
�� N��� ������������ ����� � x �
����� x > 0 �
��

��������� � �� 

�������� �� �
����	��� �
N��� ���� ��� /
�� x < 0! φǫ(x) �
�� N��� ��

�� �� W��
�

0
��� � ����� �� ������ (
�
��
��! �
�� �
�	
�� �
���� ��� (
�
��
�� ����������� � �� (������

� �� ���������

φǫ(x) =
x +

√
ǫ2 + x2

2
. F:�:G

�� �
���� �� (��� �
��� ������������
� �� �� (
�
��
� x 
→ max(0, x)� /
�� ��� ����
�� �����&

��������! �� ��� ����������� �� ���(
�� ���� ������ �� ���	������ �	�
 ��� 	����
� 

������ �� ��

(
�
��
������� M�� (
�� �� ����
�� �
������
����
� 
�
���� F��� ������ � ��)���G! �
�� �
�	
��

�
���� �� (
�
��
������ �
�� �� (
��� �
��� ��������� ��� �� �
����� Q =]0, L[×]0, T [� #���� �
��

������
�
�� ��� 	�
����� �

����	���
� ρobs �� vobs �)� �

������ ��� (
�
��
�� �

����	���
�

Iρobs �� Ivobs ��)���� ��� Q� 3� 	����
� 

������ �� �� (
�
��
������ ��� ����� L

J(α, β, γ) =
1

2

1

|Q|

∫

Q

(

ρ(α, β, γ;x, t) − Iρobs

ρc

)2

�x�t

+
1

2

1

|Q|

∫

Q

(

v(α, β, γ;x, t) − Ivobs

vc

)2

�x�t.

F:�5G

*� �
���� X = (α, β, γ) �� 	�
���� ��� 	�������� �

���������
�! �� ��
����� �� ����������
� ���

�
�� ��	
�� ���
���� �
�
��� L

�������
 �%������������  ����%�� X̃ ��� ���

J(X̃) = min
(α,β)∈C1([0,L]), γ∈C1([0,T ]),

(α,β,γ) ����� ��� �����, U=(ρ,ρw) �����	�� �� �����

J(X). F:�7G
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� '��
���� 
� J

�
�� �
��� �� 	�� ���������! �� ��
����� 8 �� ����������
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��� ����
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������! �������� 

������G! ��� ����
��� �� �����&
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� ��

�� ��� ����
��� �� ����
� �� 

�)��
� FI4℄! I5℄ 
� I7℄G� �� �
� � ��� � ���
�� ��

����
� �
�� ��� �� (
�
��
������ F:�5G �
�� 

�	� � ��� ����
�� � (α, β, γ)� #���� J ���� ��������

�	������������ ��������� ������ �

�� � 3�� ����
��� ���������� ��� �
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��� ����� ��� ������ �

�� � M�� ��
���
�� �������� ����
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�� N��� ���,�� �� ����
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� �� �����&$�>�
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�� ������
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�� I5℄ 
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5�4� *��
�� ��  ���	��� �� J

����	����� 
�� ��,������� ����
��� ���� �� ������

���� �
�� ��� 
��! �� ��� ��
������� �� 
��
���� �� �������� �� �� (
�
��
������ J 
� �� �
��� ���

�
��� ������������
� �

��� �� ∇J � ���� ��� ��� ��

����� �����������! �
�� � �����
�� ��

����
�� �
���� ���
��� �� �
������
� ���
���� ��� �
�� �	
�� �������� �
�� ����

��� �� ��������

�� J FI4<℄G�

�!������ ��<����


$
�� ������
�� ��� ρi! vi �� q �
�� ��� (
�
��
�� ��� 	�������� α! β �� γ �����
��	������ 3�

�
����
� U ��� ��
�� ��� (
�
��
� �� 
�� ��
�� 	��������� $
�� �
�
�� U(α, β, γ) �� �
����
� ��

��
����� ������ F//G

(PP )















∂tU + ∂x(f(U)) = 0,

ρv(0, t) = q(t), v(L, t) = vd(t),

U(x, 0) = Ui(x),

F:�CG


H f(U) = v U ��� �� A� �� A����� /
�� ��� ����������
� �
���� ��� 	�������� �� 

������! ��

	������
� δU = U(α+ δα, β + δβ, γ + δγ)−U(α, β, γ) �� �� �
����
� U ��� ����
�� � �� 	������
�

��� ���������� ��� �
����
� �� ������� 
���� �� ��
����� ������ ��������� F//3G

(PPL)















∂tδU + ∂x(A(U)δU) = 0,

δ(ρv)(0, t) = δq(t), δv(L, t) = 0,

δU(x, 0) = δUi(x).

F:�9G

/��
��
�� ��� δv(L, ·) = 0 ������� v(L, ·) �� ������ ��� �� α! β �� γ� *� �,��! vd(t) ���! ���

���
�����! ����������� �� U � 3� ����������
� (δα, δβ, δγ) 

����� � ��� ����������
� δJ �� J L

δJ =
1

|Q|

∫

Q

(

ρ − ρobs

(ρc)2

)

δρ �x �t +
1

|Q|

∫

Q

(

v − vobs

(vc)2

)

δv �x �t. F:�;G

*���� �
��� ���

δv = δ(
ρw

ρ
− P (ρ)) =

1

ρ
δ(ρw) + (−ρw

ρ2
− P ′(ρ))δρ,

�
�� 
����
�� �� ����� ���	����

4
��
 � +� %��	��	�� δJ ��� � ��� 0

δJ =
1

|Q|

∫

Q









ρ − ρobs

(ρc)2
+

v − vobs

(vc)2

(

−ρw

ρ2
− P ′(ρ)

)

v − vobs

(vc)2
1

ρ









· δU(x, t) �x �t. F:�4<G

�
����� ����! �
�� �	
��

δJ = (∇αJ, δα)L2(0,L) + (∇βJ, δβ)L2(0,L) + (∇γJ, δγ)L2(0,T ). F:�44G
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*���	��� 5� ���
��� �6���	�	���	�� ��� ��� 
���	�	��� 	�	�	���� �� ��( �����

�
���� �� ���� ����� �
� ������
� �� ∇XJ �� �� �
����
� λ �� ��
����� ���
����

����������� ' ��	� λ �� �����	�� �� �����
�� ��>�	�� ��	%���



























































∂tλ + A(U)t∂xλ =
1

|Q|









ρ − ρobs

(ρc)2
+
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v − vobs

(vc)2
1

ρ
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


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∇βJ = −L λ2(·, 0)ρ(·, 0)φ′
ǫ(β),

∇γJ = −T λ1(0, ·)φ′
ǫ(γ).
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µ(L, t) ·
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1

w(L, T − t) + ρP ′(ρ)(L, T − t)

)

= 0,

µ2(0, t) = 0
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|Q|
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

ρ − ρobs
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−ρw

ρ2
− P ′(ρ)

)

v − vobs
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1

ρ








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∂tµ(x, t) + Bk
− 1

2
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α1(x, t = tn) = (α1)
n
G �� x < 0 �� α1(x, t = tn) = (α1)

n
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J̃k(δ) = J(Xk) + ∇J(Xk) · δ + δT Mδ. F:�67G
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∂tρ + ∂x(vρ) = 0,

∂t(ρw) + ∂x(vρw) = 0,

(ρv)(−L′, t) = q(t), v(L, t) = vd(t),

ρ(x, 0) = ρi(x), v(x, 0) = vi(x)
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 �%������������ & ����%�� Ũ �����	�� �� F5�4G ����� ���
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� ��� ��� �
�� ������
�� 
���� ������
� ���[−L′;L]× [0;T ] �� �
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��
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������ �� ��������� ��� [0;L]× [0;T ]�
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�	��� ��
����� ���
��� L
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



































∂tλ + A(U)T ∂xλ = s(x, t),

λ(x, T ) = 0,

λ(L, t) ·
(

1

w(L, t) + ρP ′(ρ)(L, t)

)

= 0,

λ2(−L′, t) = 0,

F5�:G


H

s(x, t) =











1
|Q|

(

ρ−ρo

(ρc)2 + v−vo

(vc)2 (−ρw
ρ2 − P ′(ρ))

v−vo

(vc)2
1
ρ

)

�� x ∈ [0;L],

0 ���
��

F5�5G
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�� ������
�� ��� |Q| = L × T � 3� �������� �� J ��� �
��� ���







∇αJ = −(L + L′) (λ1(·, 0) + (v + P (ρ) + ρP ′(ρ))(·, 0))φ′
ǫ(α),

∇βJ = −(L + L′)λ2(·, 0)ρ(·, 0)φ′
ǫ(β).
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� �
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�� �	
��

���������� ��� 	������ 
����	��� F�
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��� L2(−L′, L) × L2(−L′, L) �� �������� �� J �
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��
�� �
� �� ����	� �� �� ��
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� 5� *��� ������ �
� ������� �� 

�����
��
� ��

��
����� ���
����

���
����� �� �������
 ��<����

�
�� λ ��� (
�
��
� �� 
����� C1 ��)��� ��� Q � 	������ ���� R
2� $
�� �
�
�� (λ1, λ2) ���

��� 

��
������ �� λ� *� ����������� �� ������� ��������� �
*�/ F:�9G ��� λ! �
�� 
����
��

∫

Q
λ · ∂tδU + λ · ∂x(A(U)δU)�x�t = 0. F7�4G

$
�� ������
�� ��� ������ �� ������ �� ���
�� �
�� 
������ ��� � ������
� ���������� ��

(
�
��
� ��� 	�������� �������	�� �

���������
� δUi �� δq L

∫

Q
∂tλ · δU + ∂xλ · A(U)δU �x�t =

∫ L

0
[λ · δU ]T0 �x +

∫ T

0
[λ · A(U)δU ]L0 �t. F7�6G

#����
∫

Q
∂tλ · δU + A(U)T ∂xλ · δU �x�t

=

∫ L

0
λ(x, T ) · δU(x, T ) − λ(x, 0) · δUi(x)�x

+

∫ T

0
λ(L, t) · AδU(L, t) − λ(0, t) · AδU(0, t)�t.

F7�8G

/������ �
�� �	
�� �� ������� 
����

δw(L, t) = δv(L, t) + δP (ρ(L, t)) = P ′(ρ(L, t))δρ(L, t),

�
�� �
�	
�� �
���� δU(L, T ) �� (
�
��
� �� δρ(L, t) L

δU(L, t) =

(

δρ(L, t)

δ(ρw(L, t))

)

=

(

1

w(L, t) + ρP ′(ρ)(L, t)

)

δρ(L, t). F7�:G
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�� �N��! �
�� 
����
�� δU(0, t) �� (
�
��
� �� δρ(0, t) �� �� δq(t) L

δ(ρw)(0, t) = δ(ρv + ρP )(0, t) = δq(t) + (P + ρP ′(ρ))δρ(0, t). F7�5G

#����

δU(0, t) =

(

1

P (ρ) + ρP ′(ρ)

)

δρ(0, t) +

(

0

1

)

δq(t). F7�7G
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�� �
��	
�� ���������� F7�8G �
�� �� (
���

∫

Q
∂tλ · δU+A(U)T ∂xλ · δU �x�t

=

∫ L

0
λ(x, T ) · δU(x, T ) − λ(x, 0) · δUi(x)�x

+

∫ T

0
λ(L, t) · A

(

1

w(L, t) + ρP ′(ρ)(L, t)

)

δρ(L, t)

−λ(0, t) · A
((

1

P (ρ) + ρP ′(ρ)

)

δρ(0, t) +

(

0

1

)

δq(t)

)

�t.

F7�CG

$
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�� �� ������ �� ���
��

�� F7�CG ��� δJ � �
���� �� ����� 4 �� �
�
���� �� ������ �� ��
��� ���������� �� (
�
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� ��
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


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









































∂tλ + A(U)T ∂xλ = 1
|Q|

(

ρ−ρo

(ρc)2
+ v−vo

(vc)2
(−ρw

ρ2 − P ′(ρ))
v−vo

(vc)2
1
ρ

)

,

λ(x, T ) = 0,

λ(L, t) · A
(

1

w(L, t) + ρP ′(ρ)(L, t)

)

= 0,

λ(0, t) · A
(

1

P (ρ) + ρP ′(ρ)

)

= 0.

F7�9G

%�
(

1

w(L, t) + ρP ′(ρ)(L, t)

)

F7�;G

��� �� 	�
���� ��
��� �� A� �� ����! �
�� ��
�	
�� ���

A

(

1

P (ρ) + ρP ′(ρ)

)

=

(

0

1

)

γ1γ2. F7�4<G
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���� �� AG� ���������� �� ������� F7�9G ��	����






































∂tλ + A(U)T ∂xλ = 1
|Q|

(

ρ−ρo

(ρc)2 + v−vo

(vc)2 (−ρw
ρ2 − P ′(ρ))

v−vo

(vc)2
1
ρ

)

,

λ(x, T ) = 0,

λ(L, t) ·
(

1

w(L, t) + ρP ′(ρ)(L, t)

)

= 0,

λ2(0, t) = 0,

F7�44G

��� ��� �� ������� ���
��� �� ��
����� �������

���
��������� �� �����
�� �
 J

#���� �
�� �
�	
�� �
���� ��2
� � F:�4<G! F7�CG �� F7�44G �
� ������
� �� δJ �� (
�
��
� �� δUi

�� �� δq L

δJ = −
∫ L

0
λ(x, 0) · δUi(x)�x −

∫ T

0
λ(0, t) ·

(

1

2w − P (ρ)

)

δq(t)�t. F7�46G

# �������! �
�� ���
�� ���������� �� �������� �� J ��� ����
�� �� 	�������� �� 

������ X� #

������ �� F:�48G! �
�� 
����
��

δU =

(

δρ

δ(ρw)

)

=

(

δρ

δ(ρv + ρP (ρ))

)

=

(

1

w + ρP ′(ρ)

)

δρ +

(

0

ρ

)

δv. F7�48G

#���� �
�� �
�	
�� �
���� δUi �� δq �� (
�
��
� �� δα! δβ �� δγ L

δUi =

(

1

w + ρP ′(ρ)

)

φ′
ǫ(α)δα +

(

0

ρ

)

φ′
ǫ(β)δβ,

δq = φ′
ǫ(γ)δγ.

F7�4:G

���������� �
�� 
����
�� L

δJ = −
∫ L

0
λ(x, 0)·

((

1

v + P (ρ) + ρP ′(ρ)

)

φ′
ǫ(α)δα +

(

0

ρ

)

φ′
ǫ(β)δβ

)

�x

−
∫ T

0
λ(0, t) ·

(

1

2w − P (ρ)

)

φ′
ǫ(γ)δγ �t.

$
�� ������
�� ���

δJ =< ∇αJ, δα >L2([0,L]) + < ∇βJ,δβ >L2([0,L])

+ < ∇γJ, δγ >L2([0,T ])

F7�45G

F< > ��� �� ��
���� �
������G �� λ ��� �
����
� �� F:�46G� #���� �
�� �	
��

< ∇αJ, δα >= −
∫ L
0 (λ1(x, 0) + λ2(x, 0)(v + P (ρ) + ρP ′(ρ))(x, 0))φ′

ǫ(α)δα �x,

< ∇βJ, δβ >= −
∫ L
0 λ2(x, 0)ρ(x, 0)φ′

ǫ(β)δβ �x,

< ∇γJ, δγ >= −
∫ T
0 λ1(0, t)φ

′
ǫ(γ)δγ �t

F�
�	��
��&�
�� ��� λ2(0, t) = 0G� $
�� 	��
�� �� ��
�	�� �� (
����� ���������
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�� ������ �! ���K
 ���,# 	�

������ �! ���K
 ���,� D������! ?�! 4;74�

I64℄ �������
�� +
� �
� .����

� �
 T�����
 ���
�� 
( 	���
���� ���Q
� ����	
�� 2���%	��

F4;C4G�

I66℄ ��
������ �
 ��

. >�	�� 
� ��� ����>��� 8�����	��� ������
� 5! 4 F4;57G! :6P54�

I68℄ ���� �
 #���
 ����� ������� �
�	���! ��������� 	�
�
� ��� ��,����
� �
����� ������� �!

*�������	���� ����	
� 5� F4;94G! 85CP8C6�

I6:℄ )������� !
 +	���� ��� '�� +	���� M�%��� /��� ��� #������ ���������
�� O����

������
���
�! 4;C:�
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���� ��� ��� ������� ���
�������! �
�� �	
�� 	� ��� �� �
��������
� �� A� �
��(
�����
��

�� �� �
��������
� �� ���)
 �
����� (
�� �����	���� ��� �������� �� �
�� �� 

����	���
� �
�	���

�
�
���� �
�� �� (
���
∂tu + ∂xf(u) = 0, x ∈ I, t ≥ 0,

u(x, 0) = u0(x),


H I ��� �� �����	���� �� R F�
�� �� ����
�� ��� �
� ��� 

�����
�� �� �
���G� $
�� �	
�� ��
��

������� �� �
���� ��������� �� ?
� I45℄ �
�� 
������ ��� �
����
� ����

���� 0��������! �
��

�
�� �
���� ������� � ��� ��Q
���� ��
������� ���� �� ���
����
� �� 
�� ��
������ �� � ������

��� �
����
� �
� ���������

���� 
���� ������! �
�� 
���
�
�� �� �
�	��� ���� �� �
����� �������� �	�
 ���������� 3
����&

������ �� 
� ��������� �
�� ��������� �
�	���� �
��������
� �� �
����
�� �
� ��������� �
�� ��

�������� �� ����� �� ���
���
� �

��������

#����! �
�� �
�� ��������
�� �� �������� �� �
� �� 

����	���
� �� (�'
� �������� L

∂tu + ∂xf(u) = 0, x ∈ R, t ≥ 0,

u(x, 0) = u0(x).
F4G

$
�� ����
�
�� ��� u ���������� � �� 
�	��� Ω �� R
p� 3� A� �������� f : Ω → R

p ��� ����
��

N��� �

������� ����
���W���� #)� �

������ �� ��
����� ���� �
��! �
�� ����
�
�� ��� �� �������

��� ������
�����! 
� ��� �����)� ��� �
�� �
�� ���� u ���� Ω! �� �����
� ��

������ A(u) �� A� L

A(u) = ∂uf(u)

��� ����
��������� ���� R� /�� �
�
� �� ������
���! �
�� ����
�
�� �� ���� ��� �� ������� ���

����
������ ������
�����! 

���&�&���� ��� �
�� �
�� u ∈ Ω! 
����� 	����� ��
��� αk(u) ��� ��

��������
��� �� I7℄� ���� �
��� �� �����! �
�� �
���
�� ��� 	������ ��
���� ���� �

���� 
�
������

α1(u) < α2(u) < ... < αp(u).

$
�� �����
�� ��
�	�� �� �
���� ��������� ��� �������� �

������ �� �
����
� ��������� $
��

�����
�� �� ���� ��� 
� �
���� 

����	� �� ��
������ @�� �� �� �
�� ��� ��
� ��,���(�

3� �
��
� �� �
����
� �������� ��� �� ���	����� ���� �
��� �� �����! �
�� ����
�
�� ��� �� �������

������
����� �
����� ��� ����� ����
���&A� (S(u), F (u)) ����� ��� �
����
��� S : Ω → R �
�� ���

(
�
��
� ����
������ 

�	� �� $
�� ����
�
�� �� ���� ��� S ��� �� 
����� C2 �� F �� 
����� C1�

0� 

���� �
�� �����(���� �� ������
� �� 

����������� I7℄! I4C℄

∂uS(u)∂uf(u) = ∂uF (u). F6G
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������
�	��

�
����� 
���� ������
�! ��� �
����
�� ���������� �� F4G �����(
�� �� �
� �� 

����	���
� �
������

��������������

∂tS(u) + ∂xF (u) = 0. F8G

�� ������� ��������! 
� ������� ��� ��� �
����
�� (������ �� F4G �����(������ �
��������� �� ����

��� ����������
��

∂tS(u) + ∂xF (u) ≤ 0. F:G

�
�� �
��� ����� ����
���&A� �
����
���� �
�� 
�������� ���
������! 
���� 

�����
� ������ �

�&

����� �
���
��� �� �� �
����
� �� F4�4G 	
�� ��� � ����� I4C℄!I7℄ � 0��� ������ �� ���� �� ����
��
����

�� �
����
� (����� �������� ����� �
���� ��� �
����
�� (������ �
�������� 0���� �
����
� ��� ��
��

������� �
����
� ����
������ /���� ��� �
����� ����
��� �
����������� �� ����� ��� �
����
�� ��&

��
������! 
��
�� ��� ���	�� �� "�� �� \�� ��� ��
�
���� �� �
���� �� ���� ���
� I;℄! ��� ���	�� 

�� 3���

� �� ?
��� I4:℄! 3���

�! ���
��� �� ?
��� I48℄ 
� ��

�� �� @���
� I64℄! I66℄�

$
�� ��
�
�
�� �� �
���� ���	��� L

un+1
j = un

j − λ
(

φ(un
j , un

j+1, λ, θj+ 1
2
) − φ(un

j−1, u
n
j , λ, θj− 1

2
)
)

F5G


H �� A� ��������� ������ �
�� ��������� ���� θ L

φ(u, v, λ, θ) =
f(u) + f(v)

2
− 1

2
λθ|A(u, v)|1+θ(v − u). F7G

3� ��������� θ ��� ��������� �� ��� ������� 3� �������� ����� ��� ��� ����� �����
���
� 
H �
��


���
�
�� �� ��������� θ ���������� �

������ �� �
���� @�� ��� �
�� �� �
��� ��,���( �
�������

3� ��� ���� ����� ��� ��� ����� 

���
���
� L ���� ��� 
������� 
H �� ���������
� �
����
��� ���

�
����	�! �
�� ��������
�� θ �)� �� ������ �� ���������
� ������	�� 3� 
�
� �� �
����
 �����
�

��������� �� ∂tS(u) + ∂xF (u) ��� ���
����� �
�� �� ������� ��� ����������

3� ���� �� 
���� ������ ��� �� ���	���� ���� �� ������� 
�������! �
�� �������
�� �� �
����

������� L ��)����
� �� A� ��������� ������� �� ������
� ����	������� ���� �� ��� ���� 
�������!

�
�� ��������
�� ��� 

�����
�� ��� θ �
�� 
������ �� �
���� @��! �

���� 2 �� ����
� �� 1 ��

����� ���� �� 
�� �� �
� �� 

����	���
� �
������ �
� ��������! ���� �
�� �����
�� ���������������

�� �
���� �� 
�� ��� ��������� ���� �� ��
������ 
�������! �
�� �������
�� ��� � ������
��

���������� �)� �� 	������ �
��� �
����� *�)�! ���� �� ��������� 
�������! �
�� � �����
��



����� 

������ �� ��������� θ �)� �� ������ �� �
���� ����
������

M� ����
�� ��� 
���� ������ ��� �� 

��� �� ����
��
� I8℄�

1���2
��� 3 �
�� �� 

����	���
�! �
����� ����������! ����
����
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���	�
 �� �
����� 
����	"�� ��

�
���� ����	��

	
	 �������
���� 
� �
���� ��&��
�

$
�� ���
�� �
��
�� �������� ��� A� ���������� 
��������� �� 3� &O����
,! 3� &�������
��!

3� &�������
�� �
��)�! ?
� �� ?����
	� /��� �
�� ���
�� ������ �� �	����
� ��
�� ��� �
������

�
������
��� ��
�� �� 
�� 
��� A� ���������� ��� �� ����� �
�� ���� ��������� ���� θ! 
� ���

��)���� �
��� (������ �� A� ���������

�$�$� )
������� �� (�� ���
��*�
 ������


$
�� �
�� ��������
�� � ��� �
����� ���������� �
�� �
����
 �����
� �� �
����
�� �� ���&

���� ������
�����

∂tu + ∂xf(u) = 0, x ∈ R, t ≥ 0. F4�4G

$
�� 

������
�� �� �������� ������� ���(
��� �	�
 �� ��� �
����
� 

������ ���� � h �� �
�
��

��� xj = jh ��� �
���� �� ��������� $
�� �
�
�� xj+ 1
2

= (j + 1
2)h� 3� ��� �� ����� ∆tn ���

	������� �� �
�� �
�
�� tn+1 = tn + ∆tn� #� ����� ���
��� tn! ��� ������ (un
j )! j ∈ Z (
���������

��� ����
 �����
� �� �� �
����
� 

������ u L

un
j ≈ 1

h

∫ xj+1/2

xj−1/2

u(x, tn) dx.

���� �� �����! λ ������� �� ��
����� �� ��� �� ����� ��� �� ��� �
����
�! �� ��������
� �� λ ���

����
�� � n ����� �
��&�������� L

λ =
∆tn

h
.

3�� �
����
�� �� F4�4G �
�� ����

���� � �
���� �� �
����� ���������� 

����	���(� L

un+1
j = un

j − λ
(

φ(un
j , un

j+1, λ) − φ(un
j−1, u

n
j , λ)

)

F4�6G


H �� A� ��������� φ : Ω × Ω → R
p ��� ��� (
�
��
� ����
���W����� ��� Ω × Ω� /
�� 
�������

A� ����������! �� ��� �
������ �
�	
�� ��� ���������� �
����
��� ���
����� 
H ������������ ��� A� 

CC



*���	��� /� ���������	�� �� ������� �����	��� �� �
���� ����	��

�
����
��� ���������� L

S(un+1
j ) − S(un

j ) + λ
(

ψn
j+1/2 − ψn

j−1/2

)

≤ 0. F4�8G

3� A� �
����
��� ��������� ψn
j+1/2 = ψ(un

j , un
j+1) ��� ����
�� N��� �������� �� �����(���� ��

��
������ �� 

�������
� ψ(u, u) = F (u) I44℄� 3�� �
����� ���������� ��� �����(
�� ��� �����

��������� �
�� ������ �
����� ����
�������

��,������ �
����� ���������� 

����	���(� 
�� ��� ��
�
����

0
	��� �
 4��2>
����-

0��
�� �� �
���� �� 3� &O����
, I46℄ �
�� �� A� ��������� �
�
���

φ(u, v, λ) =
f(u) + f(v)

2
− 1

2
λA(u, v)(f(v) − f(u)) F4�:G


H A(u, v) ��� ��� �����
� 

������ �� (u, v) ��� � �� ��
������ �� 

�������
� A(u, u) = A(u)�

3� �
���� �� 3� &>����
, ��� �� ���� �
���� � ��
�� �
���� �� ��

�� 
���� �� ����� �� ��

����
�� �� ��� ������ �
�� ��� �
����
�� ���������� �
�� �� 

�����
� �� 0
�����&�������
��&3�>�

F

�����
� 0�3G �	�
 �� �
���� �� 0
����� ��(������ � �� ����� ���������������! 
� �
����

��� ��������( �� ��
���� �� (
���� 
�
������
�� �
�� ��� 
���� �� 
�

�� �� ���� 
� �
���� 	�
��

�� ��
������ �
����
��� �� ��	��� ���
��� �� ���� ����� 
������� ��� ���

��������� �
� ���������

������ ��� ��� 
�

� �� ����(�
��
��

0
	��� �
 4��2.��
���
	�

3� �
���� �� 3� &�������
�� I:℄!I4<℄ � �� A� ��������� ��� �
�
���

φ(u, v, λ) =
f(u) + f(v)

2
− 1

2λ
(v − u). F4�5G

%� ���� �
����� ��� �� �
���� �� 3� &�������
�� ��� ������ �
�� ��� 

�����
� 0�3 �	�
 ��

�
���� �� 0
����� ��(������ � ��� ���������������! �� ��� ���������� �� ������� 
���� �� ���&

����� �� 
���
���� (
������� ���������( ��� �� ���� ��� ����
���� �
�� ��� ��������
�� ����������

����������

0
	��� �
 4��2.��
���
	� ����#�

3� A� ��������� �� �
���� �� 3� &�������
�� �
��)� I6<℄ ���

φ(u, v, λ) =
f(u) + f(v)

2
− 1

4λ
(v − u). F4�7G

%� ���� �
����� ��� �� �
���� �� 3� &�������
�� �
��)� �����(��� ��� ��������� �
����
��� ���&


���� �
�� �
���� ��� ������ ����
���&A� � 0��������! 
� �
���� � �� �N�� ��

�	������ ��� ��

�
���� �� 3� &�������
�� 
�� �� ��� ���� ���������(�
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/�/� *������
�	�� �� �
���� ����	��

0
	��� �
 7�


M� ����� �
���� 

�������� ������� ��� �� �
���� �� ?
� I45℄ �
�� �� A� ��������� �
�
���

φ(u, v) =
f(u) + f(v)

2
− 1

2
|Ā(u, v)|(v − u). F4�CG

$
�� ������
�� ��� �� �����
� �� ?
� Ā(u, v) �
�� �����(���� ��
�� 

�����
��

∀u ∈ Ω, Ā(u, u) = ∂uf(u),

∀(u, v) ∈ Ω2, Ā(u, v) ��� ����
���������,

∀(u, v) ∈ Ω2, Ā(u, v)(v − u) = f(v) − f(u).

M�� ����� �����������
� �� ?
� � ���� �� �� ������� ������
����� �
����� ��� ����� ����
���&A� 

�
����
��� I9℄� 3� �
���� �� ?
� ��� ������ �
�� �� 

�����
� �
�� �
���� �� 0
����� ��(������

� ��� 0� �
���� ��� ������	����� ���
�� �� �����
����� �
�� ��� ���

��������� �� �����'��� �����&

����� ���� 
� �
���� 	�
�� ����� �� ��
������ �
����
���� *� �����
�����! ��� 
�

� �����
�������

�
� ��������� �
�� ������� �� ��� 
�

� �� ����(�
��
�� ���	��� ������K��� � ���	��� ��� ��������

�
������� D����� � ��
�
�� ��� �
��)
���
� ���� �� 
��
�� �� A� ��� ������ �

������ ��

�
���� ����
����� � ������ �� �
���� �� ?
� IC℄�

0
	��� �
 7������

*�)�! �
�� �������
�� �� �
���� �� ?����
	 I47℄ �
�� �� A� ��������� �
�
���

φ(u, v, λ) =
f(u) + f(v)

2
− 1

2
αmax(v − u). F4�9G


H αmax ��� �� ���
� ���
���� �� �� �����
� A(u, v)�

0�� �
����� 
�� � �� (
�� ����� �	������� �� ����� ��

�	�������� $
�� ����
����
�� �� �
����

��������� ������� ��� ������ �� ������ �� �
�� � �
����� ��� �
����� ���	��� ��� 
��� @
�� �
��
��

�������
�� ��� �� �
���� �� 3� &O����
,! �� �
���� �� ?
� �� �� �
���� �� 3� &�������
��

���	��� �
�
���� �
�� �� (
��� �������� L

un+1
j = un

j − λ
(

φ(un
j , un

j+1, λ, θ) − φ(un
j−1, u

n
j , λ, θ)

)

F4�;G


H �� A� ��������� ������ �
�� ��������� ���� θ L

φ(u, v, λ, θ) =
f(u) + f(v)

2
− 1

2
λθ|A(u, v)|1+θ(v − u). F4�4<G

3
����� �� �����
� A(u, v) ��� ��� �����
� �� ?
�! �
�� ����
�	
�� �� A� �� 3� &O����
,

�
�� θ = 1! �� A� �� ?
� �
�� θ = 0 �� �� A� �� 3� &�������
�� �
�� θ = −1� $
�� �
�	
��

����������� θ 

��� �� ��������� �� 	��

���� ���������� 3
����� θ = 1! �� 	��

���� ���������

��� (����� �� �
����� θ = −1! �� 	��

���� ��� �� ���� �������

$
�� 	
��
�� ����� ������ ��� �	������� 

������������� �� 
�� �
����� �� ��������� ��� 	�������

��������	� θ! � ���
�� ���� [−1, 1]� #���� ���� �
��� �� �����! θ ��� ��� (
�
��
� �� �
���� u� #�

��	��� ���
���! �
�� ����
��
�� �� 	������� θ 

��� ��� (
�
��
� 
�������� �� �
����
� �� �� �����

��� θn
j+ 1

2

�

C;



*���	��� /� ���������	�� �� ������� �����	��� �� �
���� ����	��

0
	��� 	+����


$
�� 

������
�� ����� �� �
���� 

����	���( ���	��� L

un+1
j = un

j − λ
(

φ(un
j , un

j+1, λ, θn
j+ 1

2
) − φ(un

j−1, u
n
j , λ, θn

j− 1
2
)
)

F4�44G

�	�
 �� A� ���������

φ(u, v, λ, θ) =
f(u) + f(v)

2
− 1

2
λθ |A(u, v)|1+θ(v − u), F4�46G

θn
j+ 1

2

= θ(un
j−1, u

n
j , un

j+1, u
n
j+2, λ) ∈ R. F4�48G

3� �
���� �
��� �
�
 ���� �� �
���� � ��
�� �
���� ������� �� A� ��������� ������ ��

(un
j−1, u

n
j , un

j+1, u
n
j+2) ��� �� ����� �� θ � 3
�����N� �
����
����� �� 	������� θ ��� 
���� L �
�� �
�	
��

������� ��
�	�� �� ���
������ ��� �
��� �� 	����� 4 � θ ���� ��� ����
�� 
H �� �
����
� ��� ���������

�)� �

������ ��� ���
���
� �� ��

�� 
����� �
�� ����� 
���! ���� ��� ����
� 
H �� �
����
� ���

���

������ 
� ���� �
����� �� �������� ��� ���� ���
�����! �
���
������ �
�� �������� �� �
����

������ �� ������� 
���� (��������� ��,���(! 

���&�&���� �������� ��� 	����� �� θ ��

�� �� W��
�

�� 
��� ��� ��
�������! �
���
������ ���� ��
����� ��� ��,���
� ��������� ���
������ �	�
 ���

	������ �� θ ��

�� �� −1� 3� �
��������� �
�� θ �� ��	���� ��(������ � W��
 ���� N��� � ��
����

�
�� ��
����� ���� �� ���������
� ��������� ��� �� �
���� �� ?
�! �� �����
����� �
�� ��� 
����

�� ����(�
��
� �� �
���� �
������! �
����� �� �
���� �� ?
� 
��� �� ������� ��� 
�

� �
����
���

�
� ���������� *� �
������ ������! �
�� �
�	
�� ������� 
������ �� �
���� ����
������

�$�$� '������
� �� �
�
�� ������


$
�� �
�	
�� 
�
���� ��,������� 	�������� �� �
���� ������� �������� ���� �� ����������

���
������ $
�� �� 
��
�� �������� � �������

0
	��� 	+����
 4>2��6���24.

?������
�� ��� �
��� �
���� �� ��
������ ��� (
�
����� �� 
��
�� �
��� �����
� �� ?
�� /��

� �����! �
�� �
�	
�� �������� �� �����
� A(u, v) = ∂uf(u+v
2 )� ���� 
� 
��! ���� �B�! �� �
����

������� �
�� θ = 0 �
��� ���� �� �
���� �� ?
�� 3
�	������ ��� ��� �� �
���� ��� ���� (�
�������

����������! ����� ��� ����
��������
� �� ∂uf(u) ����� ��
��������

0
	��� 	+����
 4>2:..�24.

M�� ����� (�'
� �
�	���� �� 
��
�� �
��� �����
� �� ?
� ��� �
�
���� �� �
���� ������� �
��

�� (
��� �
�� �
���� ���0 FI5℄G� *� �,��! �
�� �
�	
�� ��������� ��� �� A� �
�
���

φ(u, v, λ, θ) =
f(u) + f(v)

2
− 1

2
����(A)λθ |A(u, v)|θ(f(v) − f(u))

�
�� θ ≥ 0 ���� �� 
�� 
H A ��� ��� �����
� �� ?
�� #���� �
�� �
�	
�� �
����

φ(u, v, λ, θ) =
f(u) + f(v)

2
− 1

2
λθ B(f(v) − f(u))


H B = ����(A) |A(u, v)|θ ! 
H A ���� N��� ��� �����
� ��,������ �
��� �����
� �� ?
�! ����� ���

A(u, u) = ∂uf(u)� /��
��
�� ��� 
�� �
����� �� �
�� ��� ����
�������

9<



/�/� *������
�	�� �� �
���� ����	��

4>27�
27������

$
�� �
�	
�� ����
����� �	�
 
���� ����
�� ��������� ����� �� �
����� ��������� /�� � �����!

�
�� �
�	
�� ������� ���� �� �
���� F4�44G �� A� ���������

φ(u, v, λ, θ) =
f(u) + f(v)

2
− 1

2
λθ+

αθ++1
max | 1

αmax
A(u, v)|1+θ(v − u) F4�4:G


H θ+ = max(0, θ)� /
�� 
� �
���� �������! �
�� 
����
�� �
��
��� ��� �
����� �� 3� &O����
,

�� �� ?
� �
�� θ = 1 �� θ = 0 �����
��	����� �� �� �
���� �� ?����
	 �
�� θ = −1�

4>27�
24.1 �� 4>2��6���24.1

�� �N��! �
�� �
�	
�� 
������ �� �
���� ������� �
�� ������ �� 
�� θ = 1 

�����
�� ��

�
���� �� 3� &O����
, �� �� 
�� θ = −1 �� �
���� �� 3� &�������
�� �
��)� L

φ(u, v, λ, θ) =
f(u) + f(v)

2
− 1

2
λθ2θ− |A(u, v)|1+θ(v − u)


H θ− = ���(0, θ)� 0� ���� �� �
���� ������� ������ �

������ �� �
���� �� 3� &�������
��

�
��)� �
�� θ = −1 ��� ��� ����
������ $
�� ��������
�� 
� ���� �� �
���� ���� �
� �����
���
��

�����������

�$�$! +���
 ,

����
��
 �� �
�
�� ������


3� ��
������ �
���������
� ��������� 
�&������ ����
���� �� ��������� �
������� �� ��� �������

�
����
����� ��� ��
������ �
���������
� ���� �
���������� �� ����
������� �� ��������� � 	������

	�
�
������� �θ = (θk)k=1,...,p� /
�� 
���! �
�� ����
�
�� ��� �� �����
� A(u, v) �� ����
������ �
��

�� (
��� D(u, v) = diag(αk(u, v)) ���	��� �� �����
� �� 	�
����� ��
���� � ��
��� R(u, v) L

A(u, v) = R(u, v)D(u, v)R(u, v)−1 .

���� 
� ��� ����! �
�� ��������
�� �� �
����
� ���	���� �
�� �� � �
���� =	�
�
����= �� �����
�

��)�� ��� L

|A(u, v)|�θ = R(u, v) diag(|αk(u, v)|θk )R(u, v)−1. F4�45G

���� 
� 
��! �� A� ��������� �
�
���

φ(u, v, λ, �θ) =
f(u) + f(v)

2
− 1

2
(λI)

�θ |A(u, v)|e+�θ(v − u) F4�47G

�	�
 e = (1, ..., 1) Z �� �����
� I ��� �� �����
� �������� ���� R
p�

-��� �B�! �
�� �
�	
�� ������� ��� 	�������� �� �
���� ������� ���������� 
�&������ �� 
��

	�
�
�����

�$�$# -*������� 
*��,��
��
� ���� �
� ����
� �
�����
 
� ,

����
��


$
�� 	
��
�� ������� �
��A���
� �� θ ��� �� �
���� ���������! �� �����
����� �� 
� ���



�
���� �� ��,���
� ���������� $
�� �
��
�� ���� 
� ���������� ��� ������
�� ����	�������

���

���� �����
��	����� � �� (
��� �
������ �� � �� (
��� 	�
�
������ �� �
���� ��������
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*���	��� /� ���������	�� �� ������� �����	��� �� �
���� ����	��

$
�� �
��	
�� ����� �� ��	��
������� �� @���
� �� 	
������� �� �
��� (xj , t
n) �� ��

�� 
����

���� F4�44G! F4�46G� $
�� 
����
�� �� ������� �
*�/ ��� �� �
���� ��������� ���
�� �	�
 ���

���
���
� �� ��

�� 
���� �� ����� �� �� ����
�� /
�� ������)�� ��� 
��
���! �
�� ����
�
��

��� θ ��� ��� (
�
��
� �

������� 

������� ���� �� �
��� (xj , t
n)� M� 
��
�� ������ �
���� ���

�
������
� ����	������ �� �� (
��� �
������ �� �
���������
� ���

∂tu + ∂xf(u) +
∆tn

2
∂x[A2(u)∂xu] − 1

2
(∆tn)θh1−θ∂x

[

|A(u)|1+θ∂xu
]

= 0. F4�4CG

$
�� �
�	
�� �
���� �� (�'
� ����	������

∂tu + ∂xf(u) − ∆tn

2
∂x

[(

(λ)θ−1|A(u)|θ+1 − A2(u)
)

∂xu
]

= 0.

3� 

�����
� �
�� �	
�� ��� �����
� �� ��,���
� �
����	� ��� � ������ � �
���� ��� 	������

��
���� αk �� A(u) L

(λ|αk|)θ−1 − 1 ≥ 0 ∀k ∈ {1, ..., p}.

/
�� θ ≤ 1! �
�� ����
�	
�� ��� 

�����
�� 
��������� �� 0
�����&�������
��&3�>� 

�
������ ��

��� �� ����� ∆tn L

λ|αk| ≤ 1 ∀k. F4�49G

$
�� �
�	
�� ��������� ��� �
�� θ = 1! �� �����
� �� ��,���
� ��� � �
������ W��
 Z �� �
����

��������� 

�����
����� ��� �� �,�� �� �
���� �� 3� &O����
,� ���� �� 
�� 

�������! �
���������

�� �� �����
� �� ��,���
� ��� �
�	����� ��� ��� 	������ ��
����� 0�� 	������ ��
���� �
��

(

(λ|αk|)θ−1 − 1
)

(αk)
2 �� αk �= 0 �� 0 ���
�.

/
�� λ|αk| > 0! �� (
�
��
�

q : θ 
→ (αk)
2((λ|αk|)θ−1 − 1)

��� �� 
����� C∞ ��� [−1,+∞]� �� ����!

q′(θ) = (αk)2 ln(λ|αk|)(λ|αk|)θ−1 < 0

�
�� �
�� θ! �
�� �� 

�����
� 0�3 F4�49G� 0��� �����)� �� �����
����� ��� �
��������� �� �� �����
�

�� ��,���
� ��� ��� (
�
��
� ��
�
������� �� ��������� θ� �� ����! �
�� ����
�� �� �
���� ��

3� &O����
, �� �
���� �� 3� &�������
�� �� (�'
� ���� ����������

7
���!�
 � ���� θ ≥ 1# �� !��
�	�� f ��� �� ��	%� �� �� �	�	�� �� f ������� θ ���� %��� +∞
%��� −(αk)

2� �	��	 ���� ��� %������ �� θ �����	����� 0 1 �� ����	
� λθ|A(u)|θ+1 −A2(u) ��� ���

����	
� �6���	�	"��	�� ���� �6	�����	�� ����� ������ ������� θ ���� %��� +∞�

3�� 
��
��� �,�
���� �
�� �� (
��� �
������ �� �
���������
� ���	��� N��� ������� ���� ��Q
����

� �� (
��� 	�
�
������ �	�
 ��� 

�
����
�� ����
����� 3
������
� ����	������ ��� ��
�� L

∂tu + ∂xf(u) − ∆tn

2
∂x

[(

(λ)
�θ−e|A(u)|e+�θ − A2(u)

)

∂xu
]

= 0

�	�
 ��� 

�	����
�� ���
����� 
�&�������
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 �����	
��	�
 ��� ��

�	�
� θ

�
	 ��� 
� �!�������� 
� ����� ��� �������� �
������

#	��� �� �
�� �������� �� ��
����� ���� ������� �� ���� ��Q
��� �
��� ������
� �� �
� ��



����	���
� �
������ �
� ��������! �
�� �
�� ��������
�� �� 
�� �� ������
�� ��������� $
�� ��&

���
�� ��
�	�� ��� (
�
��
�� θ ��� ���������� �

������ �� �
���� @��� $
�� 

������
�� �
�


�
������
�

∂tu + a∂xu = 0, F6�4G


H a ��� ��� 

�������� /
�� ) �� ��� �����! �
�� �
�	
�� ����
��� ��� � ����� ��� a > 0� $
���

�
���� ������� ���� �� 
�� �
������ �
�
��� ���������� L

un+1
j = un

j − λ
(

φj+ 1
2
− φj− 1

2

)

, F6�6G

�	�
 �� A� ���������

φj+ 1
2

= a
un

j + un
j+1

2
− 1

2
λ

θn

j+ 1
2 a

1+θn

j+ 1
2

(

un
j+1 − un

j

)

. F6�8G

�$�$� ������
 &') ��� �
 
�����
 ��.���
� 
� ��������
 �� �
�
�� ������


$
�� ������
�� ��� ��)����
�� ���	����� F�	�
 ��� �
����
�� ���
�������G�

��#������ � N� �
����

un+1
j = un

j − λ(φj+ 1
2
− φj− 1

2
)

��� �	� �?3 <����� ?��	��	�� 3	�	�	��	� = �������

∀u0, TV (u1) ≤ TV (u0)

�C TV (u) =
∑

j∈Z
|uj+1 − uj |�

��#������ � N� �
����

un+1
j = un

j − λ(φj+ 1
2
− φj− 1

2
)

��� �	� L∞7������ ������6	� �(	��� ��� 
�������� K 	����������� �� ∆t �� h ����� ���

∀u0, ∀n, max
j∈Z

|un
j | ≤ K max

j∈Z

|u0
j |.
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*���	��� 4� 3�����	���	�� ��� !��
�	��� θ

/
�
��

ν = aλ, ∆uj+ 1
2

= un
j+1 − un

j .

*� ���	��� ��� ����� �
D����� IC℄ �� �� �>��� I4;℄! �
�� �
��	
�� �� �
���� ��������� �
�� ��

(
���

un+1
j = un

j − ν

2

(

1 − ν
θn

j+1
2

)

∆uj+ 1
2

+

(

1 + ν
θn

j− 1
2

)

∆uj− 1
2
. F6�:G

$
�� 	
��
�� ���������� ��� (
�
��
�� θ ������ ��� �� �
���� ������� �
����� �� ��
������ @���

$
�� �
�
��

rj =
∆uj− 1

2

∆uj+ 1
2

.

#���� �� �
���� ��������� ���� �
�
���� F���� �� 
�� a > 0G

un+1
j = un

j − ν

2





1 − ν
θn

j+ 1
2

rj
+ (1 + ν

θn

j− 1
2 )



 ∆uj− 1
2

F6�5G


� ��� �
��� �� (
��� ��
���������

un+1
j = un

j + Cn
j+ 1

2
∆uj+ 1

2
− Dn

j− 1
2
∆uj− 1

2
F6�7G

�� 

�Q
�����


















Cn
j+ 1

2

= 0,

Dn
j− 1

2

=
ν

2





1 − ν
θn

j+1
2

rj
+ (1 + ν

θn

j− 1
2 )



 .

3� ��
�
����
� ���	���� �
��� ��� 

�����
� ��Q����� �
�� �	
�� �� �
���� @�� IC℄�

����������� ) N� �
���� �
�	� ���� ��� !���� 	�
���������

un+1
j = un

j + Cn
j+ 1

2
∆uj+ 1

2
− Dn

j− 1
2
∆uj− 1

2
F6�CG

��� �?3 ���� �� 
���	�	�� ��K����� - ���� ���� n �� j#

Cn
j+ 1

2
≥ 0, Dn

j+ 1
2
≥ 0

��

Cn
j+ 1

2
+ Dn

j+ 1
2
≤ 1.

# �
���� �� �� (
��� ��
���������! �
�� �
�	
�� �
����� ��
�� �
���� ��� L∞&������ L

����������� * N� �
���� �
�	� ���� ��� !���� 	�
���������

un+1
j = un

j + Cn
j+ 1

2
∆uj+ 1

2
− Dn

j− 1
2
∆uj− 1

2
F6�9G

��� L∞7������ ���� �� 
���	�	�� ��K����� - ���� ���� n �� j#

Cn
j+ 1

2

≥ 0, Dn
j+ 1

2

≥ 0

��

Cn
j+ 1

2

+ Dn
j− 1

2

≤ 1.
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�� �
����� ��
�� �
���� �
����� �� ��
������ @�� �� �� ���������

L∞ ��	������� ���������� 0 ≤ Dn
j+ 1

2

≤ 1. $
�� 
���
�
�� �
�
 θn
j+ 1

2

��� ������ �� �����(����


�� �����������

$
�� ����
�
�� ���� �
��� �� ����� ��� �� 

�����
� 0�3 ν < 1 ��� �����(����� $
�� 
���
�
��

��
�� ��� (
�
��
�� θ ������ ��� �
�� �
�� r! r′!

0 ≤ ν

2

(

1 − νθ(r,ν)

r
+ 1 + νθ(r′,ν)

)

≤ 1, F6�;G



���&�&����

−1 ≤ 1 − νθ(r,ν)

r
+ νθ(r′,ν) ≤ 2

ν
− 1 ∀r, r′. F6�4<G

0
������
�� �� ������� �
��������� ���
�� �� F6�4<G�


�������� −1 ≤ 1−νθ(r,ν)

r + νθ(r′,ν)

$
�� 

������
�� �� ��������� ������������� α ���� [0; 1]� $
�� 
���
�
�� ��
�� ��� 

�����
��

��� θ ������ ���
{

α ≤ νθ(r′,ν)

−1 − α ≤ 1−νθ(r,ν)

r

F6�44G

3� �������� ��������� α ≤ νθ(r′,ν) ��� 	���)�� �� �� ��������� �� θ(r′, ν) ≤ lnα
ln ν � /
�� �� ��

���

��������� −1 − α ≤ 1−νθ(r,ν)

r ! �
�� ��������
�� ��� ��� 
�� r ≥ 0 �� r < 0�

/
�� �� ������� 
�� r ≥ 0! �
��������� ��� 	���)�� �� �� ��������� �� θ(r, ν) ≥ ln(1+(1+α)r)
ln ν � /
�� ��

��

�� 
�� r < 0! �� r ≤ −1
1+α ! �
��������� ��� �
��
��� 	���)��� ��

−1
1+α < r < 0! �
��������� ��� 	���)��

��� θ(r, ν) ≤ ln(1+(1+α)r)
ln ν � $
�� �������
�� ��� �� r ∈ [ −1

1+α ; −1+α
1+α ]! ��
�� ln(1+(1+α)r)

ln ν ≥ lnα
ln ν � 0��



�����
�� �
�� �������� ���� �� ������� 
�&����
���

r −∞ −1+α
1+α 0 +∞

0
�����
�� ��� θ θ ≤ ln α
ln ν θ ≤ ln(1+(1+α)r)

ln ν
ln(1+(1+α)r)

ln ν ≤ θ ≤ ln α
ln ν

/
�� �� 
�� α = 0! �
�� 
����
�� ��� �N��� ��������� �� ������'��� ln α ��� −∞�

$
�� 

������
�� ���������� �
��������� �� ��
��� ���� F6�4<G�


�������� 1−νθ(r,ν)

r + νθ(r′,ν) ≤ 2
ν − 1

$
�� 

������
�� �� ���� β ���� [0; 1]� $
�� 
���
�
�� ��
�� ��� 

�����
�� ��� θ ������ ���

{

νθ(r′,ν) ≤ β( 2
ν − 1),

1−νθ(r,ν)

r ≤ (1 − β)( 2
ν − 1).

F6�46G

3� �������� ��������� νθ(r′,ν) ≤ β( 2
ν − 1) ��� 	���)�� �� �� ��������� �� θ(r′, ν) ≥ lnβ( 2

ν
−1)

ln ν � /
��

�� ��

��� ��������� �� F6�46G! �
�� ��������
�� ��� ��� 
�� r ≥ 0 �� r < 0� /
�� �� �������


�� r < 0! �
��������� ��� 	���)�� ��	 θ(r, ν) ≥ ln(1−( 2
ν
−1)(1−β)r)

ln ν � /
�� �� ��

�� 
�� r ≥ 0! ��

0 ≤ r < 1
( 2

ν
−1)(1−β)

! ��
�� �� 

�����
� ��� θ(r, ν) ≤ ln(1−( 2
ν
−1)(1−β)r)

ln ν � �� r > 1
( 2

ν
−1)(1−β)

! ��
��
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*���	��� 4� 3�����	���	�� ��� !��
�	��� θ

�
��������� ��� ���
����������� 	���)���

?�	��
�� �� 
�� r ∈ [0; 1
( 2

ν
−1)(1−β)

]� /
�� r′ = r! �
������
� F6�46G �����K�� ��� β �
�� �����(����

ln β( 2
ν − 1)

ln ν
≤ θ(r, ν) ≤ ln(1 − ( 2

ν − 1)(1 − β)r)

ln ν
.

0���� 

�����
� ��� ����	������ �

β ≥ 1
2
ν − 1

. F6�48G

���� 
� 
��! ��� ��� 

�����
�� L θ(r, ν) ≥ ln(1−( 2
ν
−1)(1−β)r)

ln ν �� θ(r, ν) ≥ ln β( 2
ν
−1)

ln ν ���	���

N��� �������� ��� θ(r, ν) ≥ lnβ( 2
ν
−1)

ln ν ��� ] − ∞;
1−β( 2

ν
−1)

(1−β)( 2
ν
−1)

] �� θ(r, ν) ≥ ln(1−( 2
ν
−1)(1−β)r)

ln ν ���

[
1−β( 2

ν
−1)

(1−β)( 2
ν
−1)

; 0]� 0�� ��������� �
�� ������� ���� �� ������� 
�&����
�� L

r −∞ 1−β( 2
ν
−1)

(1−β)( 2
ν
−1)

0

θ θ ≥ ln β( 2
ν
−1)

ln ν θ ≥ ln(1−( 2
ν
−1)(1−β)r

ln ν

r 0 1
( 2

ν
−1)(1−β)

+∞

θ
ln β( 2

ν
−1)

ln ν ≤ θ ≤ ln(1−( 2
ν
−1)(1−β)r)

ln ν θ ≥ ln β( 2
ν
−1)

ln ν

�$�$� /��
 &') 
� ����������� ���
��*�
 �������


0
��� �
�� �
������� �
��� ����� ���
������! ��������� ����� �� ����
�� @�� � ������� *����

��������� � �� (
�� ��� ��� ���������� α �� β� $
�� �����
�� ������)�� ��� ����
� ��� ������

�
�	
�� �� �
���� @�� �	�
 ��� ���������
� ��������� $
�� ��	
�� ����� ��
�	�� ��� ����
�

@�� 
H θ ����� ��� 	������ ��� ���� ������� �
�������� 3�� 

�����
�� ��� α �� ���������� ���

�� �����������
� �
��� ����
� @�� ��� �
�� �
����
�� �����)�� �� ��������� ��
��� ������ /��

�
�
� �� ������)
���
� ��� 

�����
�� ��� θ! �
�� 
�
�����
�� α = 0�

/
�� 
�
���� β! �
�� ) 
�� �� ���� r > 0� $
�� 	
��
�� ��� �� �
��� ����������
ln(1−( 2

ν
−1)(1−β)r)

ln ν

�
�� �� ���� ������ �
������ �� (
�
��
� �� β� %� 
���� (
�
��
� �� β F� r ) �G ��� ��
�
�������!

����� �� ��� ��Q���� �� �
��� β = 1
2
ν
−1

� ���� 
� 
��! ��� �
�	����� 

�����
�� ��
	����� �� β �
��

θ �
�� L
r −∞ 0 1

2( 1
ν
−1)

+∞

θ θ ≥ 0 0 ≤ θ ≤ ln(1−2( 1
ν
−1)r)

ln ν θ ≥ 0

*� ����
����� ��� 

�����
�� ��
	����� �� α �� β! �
�� 
����
�� )�������� ��� 

�����
�� ���&

	����� ��� θ ��� �
�� �����
�� ���� �� ��
�
����
� 
�&����
���

����������� ? ��	� ��� !��
�	�� θ ���	�!�	���� ��� 
���	�	���

r −∞ −1 0 1
2( 1

ν
−1)

+∞

θ θ ≥ 0 0 ≤ θ ≤ ln(1+r)
ln ν 0 ≤ θ ≤ ln(1−2( 1

ν
−1)r)

ln ν θ ≥ 0
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�����
� 0�3 ��� �
� ν = 0.5�

����� �� �
���� ����	�� F6�6G7F6�8G ���� �� 
�� �	���	�� �
���	�� ����
�� �� �����	��� �?3 �� ��

����	�	�� L∞�

?������
�� ��� �� ��
�
����
� 9 �
��� �� � ����� ����� �
������ �� 

�����
�� ��Q������ ���

�� (
�
��
� θ� 3� W
�� 
H �
�� �� ������ �� ��������� θ �� (
�
��
� �� r ��� ����������� ��� ��

)���� 6�4

�
� ��� 
� �!�������� �
������ ��� ��������

$
�� 

������
�� ���������� �
������
� �� �
� �� 

����	���
� �
������ �
� �������� L

∂tu + ∂xf(u) = 0. F6�4:G

$
�� �	
�� �� �
���� ���	��� L

un+1
j = un

j − λ(φn
j+ 1

2
− φn

j− 1
2
) F6�45G


H

φj+ 1
2

=
f(un

j+1) + f(un
j )

2
− 1

2
λ

θn

j+1
2 |aj+ 1

2
|
1+θn

j+ 1
2 (un

j+1 − un
j ) F6�47G

��� �� A� ��������� �� 
H aj+ 1
2

= a(un
j , un

j+1) �� (u, v) 
→ a(u, v) ��� �� (
�
��
� ��)��� ���

a(u, v) =







f ′(u) �� u = v

f(v)−f(u)
v−u ���
��

$
�� ������
�� ��� ∆uj+ 1
2

= un
j+1 − un

j � $
�� 

������
�� ��
�� � ���� ��� 

������� µ F��

��������� �� �� j �� �� nG ����� ��� �� 

�����
� | dt
dxf ′(u)| ≤ µ ��� �����(����� #)� �� ��
�	�� ��

W
�� @��! �
�� �
�� ������
�� �� �
����� ��� �
����� �	�
 ��������� �� A� FI4;℄!I7℄G� 0
���

���� �� 
�� ��������! �
�� ���
�� �
���� �� �
���� �
�� ��� (
��� ��
����������
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*���	��� 4� 3�����	���	�� ��� !��
�	��� θ

�$�$� +���
 ��
�
�
����
 �� �
�
��

#���� �� �
���� F6�45G&F6�47G ���� �
�
���� L

un+1
j = un

j −λ

(

fn
j+1 + fn

j

2
− 1

2
λ

θ
j+1

2 |aj+ 1
2
|
1+θn

j+ 1
2 ∆un

j+ 1
2

−
(

fn
j + fn

j−1

2
− 1

2
λ

θ
j− 1

2 |aj− 1
2
|
1+θn

j− 1
2 ∆un

j− 1
2

))

.

F6�4CG

%�
fn

j+1 + fn
j

2
−

fn
j + fn

j−1

2
=

fn
j+1 − fn

j

2
+

fn
j − fn

j−1

2
,

�� �
�� �	
�� ����
�� ��� a(u, v)(v − u) = f(v) − f(u)� #����!

un+1
j = un

j − λ

2

(

(aj+ 1
2
− λ

θ
j+ 1

2 |aj+ 1
2
|
1+θn

j+ 1
2 )∆un

j+ 1
2

+(aj− 1
2

+ λ
1+θ

j− 1
2 |aj− 1

2
|
1+θn

j− 1
2 )∆un

j− 1
2

)

.

F6�49G

$
�� ���
��	
�� �
� ������
� ���
������ �
�� �� (
��� L

un+1
j = un

j − 1

2

(

(λaj+ 1
2
− |λaj+ 1

2
|
1+θn

j+ 1
2 )∆un

j+ 1
2

+ (λaj− 1
2

+ |λaj− 1
2
|
1+θn

j− 1
2 )∆un

j− 1
2

)

.

$
�� ��)����
�� a+ �� ������ �
����	� �� a �� a− �� ������ ������	� �� a� #���� a = a+ + a− ��

|a| = a+ − a−� $
�� �	
�� ��
��

un+1
j = un

j − 1

2

(

λa+
j+ 1

2

(1 − |λaj+ 1
2
|
θn

j+ 1
2 )∆un

j+ 1
2

+ λa−
j+ 1

2

(1 + |λaj+ 1
2
|
θn

j+ 1
2 )∆un

j+ 1
2

+ λa+
j− 1

2

(1 + |λaj− 1
2
|)

θn

j− 1
2 )∆un

j− 1
2

+ λa−
j− 1

2

(1 − |λaj− 1
2
|)

θn

j− 1
2 )∆un

j− 1
2
)

)

$
�� ����
�
�� ���
����� ��� (a+
j− 1

2

�= 0 
� a+
j+ 1

2

= 0) 

���&�&���� ��
�� �
��� ��� �
������ �
�	
��

� �� (
�� L (a+
j− 1

2

= 0 �� a+
j+ 1

2

�= 0)� 0���� ���
����� ��� �� �����
����� 	���)�� �� �� 
������ j ��

�� ��
�	� ��� �� 	
������� �
�� �
��� �
������ /
�� ������)��! �
�� ����
�
�� �
�
 ��� �
�� ��

�
���� ��� �� 	
������� �
�� �
��� �
������

0
��� ���� �� 
�� ��������! �
�� �
�
�� νj = λaj ! ν+
j = λa+

j �� ν−
j = λa−j � ���� 
� 
��!

un+1
j = un

j −
ν+

j− 1
2

2



(1 − |νj+ 1
2
|
θn

j+ 1
2 )

ν+
j+ 1

2

∆un
j+ 1

2

ν+
j− 1

2

∆un
j− 1

2

+ (1 + |νj− 1
2
|
θn

j− 1
2 )



 ∆un
j− 1

2

+
−ν−

j+ 1
2

2



(1 + |νj+ 1
2
|
θn

j+ 1
2 ) + (1 − |νj− 1

2
|
θn

j− 1
2 ))

ν−
j− 1

2

∆un
j− 1

2

ν−
j+ 1

2

∆un
j+ 1

2



 ∆un
j+ 1

2
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�	�
 ��� 

�	����
��
ν+

j+1
2

ν+

j− 1
2

= 0 ��
ν−

j− 1
2

ν−

j+1
2

= 0 ��� ��� �� ���������� �
������� $
�� 
����
�� ��
��

�� ��
�
����
� L

����������� @ 2� �����
� �� ��	�� ���	���# �� �
���� F6�45G ���� �6�
�	�� ���� �� !���� 	�
��7

�������

un+1
j = un

j + Cj+ 1
2
∆un

j+ 1
2
− Dj− 1

2
∆un

j− 1
2
, F6�4;G

�%�
 
���� 
��K
	����

Dj− 1
2

=
ν+

j− 1
2

2



(1 − |νj+ 1
2
|
θn

j+ 1
2 )

ν+
j+ 1

2

∆un
j+ 1

2

ν+
j− 1

2

∆un
j− 1

2

+ (1 + |νj− 1
2
|
θn

j− 1
2 )



 ,

Cj+ 1
2

=
−ν−

j+ 1
2

2



(1 + |νj+ 1
2
|
θn

j+ 1
2 ) + (1 − |νj− 1

2
|
θn

j− 1
2 )

ν−
j− 1

2

∆un
j− 1

2

ν−
j+ 1

2

∆un
j+ 1

2





�C νj+ 1
2

= λaj+ 1
2
�� νj− 1

2
= λaj− 1

2
�

$
�� �
�
�� ��
��

r+
j =

ν+
j− 1

2

∆un
j− 1

2

ν+
j+ 1

2

∆un
j+ 1

2

, F6�6<G

r−j =
ν−

j+ 1
2

∆un
j+ 1

2

ν−
j− 1

2

∆un
j− 1

2

. F6�64G

$
�� ��
��
�� �� ��)��� �
� �
���� θj+ 1
2
���

θj+ 1
2

=

{

θ(r+
j , |νj+ 1

2
|) �� νj+ 1

2
≥ 0,

θ(r−j+1, |νj+ 1
2
|) �� νj+ 1

2
< 0

F6�66G


H θ ��� ��� (
�
��
� ��� �������� �
�� ���
�� ���
��� ��� 

�����
�� �
�� ��� �� �
���� �
��

@�� �� L∞&������ ��� ��� 
������� �������� ���� ��� ��
�
����
�� 7 �� C� $
�� �	
�� ��
��

Dj+ 1
2

=
ν+

j+ 1
2

2





1 − |νj+ 3
2
|θ(r+

j+1)

r+
j+1

+ 1 + |νj+ 1
2
|θ(r+

j )



 , F6�68G

Cj+ 1
2

=
−ν−

j+ 1
2

2



1 + |νj+ 1
2
|θ(r−j+1) +

1 − |νj− 1
2
|θ(r−j )

r−j



 . F6�6:G

�$�$� )
�
��������� �
 �� �
	��� &') 
� L∞0�����


$
�� 	
��
�� ��
�	�� ��� (
�
��
� θ(r, ν) ����� ��� Cj+ 1
2
�� Dj+ 1

2
�����(������ ��� 

�����
�� L

Dj+ 1
2
≥ 0, F6�65G

Cj+ 1
2
≥ 0, F6�67G

Cj+ 1
2

+ Dj+ 1
2
≤ 1, F6�6CG
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�
�� �� ����
� @�� �� �� 

�����
� ��������������

Cj+ 1
2

+ Dj− 1
2
≤ 1 F6�69G
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�� ��� �� �
���� �
�� L∞−�������
��Q������� �
�� �
�� �
��� �
����� F�� ��Q� ����� �
�	
�� �� �N�� ����� �
�� aj+ 1

2
! aj− 1

2
!

aj+ 3
2
G! �
�� �	
�� �� �����
����� �
�� FDj+ 1

2
= 0 �� Dj− 1

2
= 0G �
�� FCj+ 1

2
= 0G� $
�� �
��
��

���� �� ��
�
����
� ���	���� �� � ����� �� 

�����
�� ��Q������ �
�� ��� �� �
���� �
����� ��

��
������ @�� �� �
�� L∞&�������

����������� �A ��	� µ �� ������ *�+� ��	� ��� !��
�	�� θ(r, ν) ���	�!�	���� ��� 
���	�	���

��	%����� -
r −∞ −1 0

θ 0 ≤ θ 0 ≤ θ ≤ ln(1+r)
ln ν

r 0 1
2( 1

µ
−1)

+∞

θ 0 ≤ θ ≤ ln(1−2( 1
µ
−1)r

ln ν 0 ≤ θ

����� �� �
���� ����	�� F6�45G7F6�47G �%�
 ��� �����	��� F6�6<G7F6�64G �� �� ��$�	�	�� �� θj+ 1
2

������ ��� F6�66G ����
�� �� �����	��� �?3 �� �� L∞7����	�	���

������� $
�� 
���
�
�� ��� 

�����
�� ��Q������ ��� �� (
�
��
� θ �
�� 
������ �� �
���� @��

�� L∞&������ L

���������� ����
���� �
 �%��������� F6�65G

$
�� ����
�
�� ��� aj+ 1
2

> 0 �� �
�
 aj− 1
2

> 0 �� aj+ 3
2

> 0� #���� �
�� �
�� �
��� �
�����!

Cj+ 1
2

= 0� /
�� ������)�� �
�
������! �
�
�� ν ′ = ν+
j+ 1

2

�� ν ′′ = |νj+ 3
2
|� #����

Dj+ 1
2

=
ν ′

2

(

1 + ν ′θ(r′,ν′) +
1 − ν ′′θ(r′′,ν′′)

r′′

)

. F6�6;G

3
��������� F6�65G ��	����

ν ′(1 + ν ′θ′ +
1 − ν ′′θ′′

r′′
) ≥ 0. F6�8<G

0
��� ν ′θ′ ≥ 0! �� ��� ��Q���� F���� �
� ��
�������! 	
�� �
����� �� 
�� �������� �� (
�
��
� ��

��������� αG �
�	
��

1 − ν ′′θ′′

r′′
≥ −1. F6�84G

0���� ��������� ��� ����	������ �

{

θ(r′′, ν ′′) ≥ ln(1+r′′)
ln ν′′ , �� r′′ ≥ 0,

θ(r′′, ν ′′) ≤ ln(1+r′′)
ln ν′′ , �� − 1 ≤ r′′ < 0,

F6�86G

F�� r′′ < −1! �
��������� ��� �
��
��� 	���)��G�

;<



4�4� *�� �� �6�����	�� �
���	�� ��� �	���	��

���������� ����
���� �
 �%��������� F6�67G

�� �N�� �� 

��������� ��� aj+ 1
2

< 0! �
�� �	
�� �
�� �
�� �
��� �
�����! Dj+ 1
2

= 0� /
�
��

ν = |νj− 1
2
| �� ν ′ = −ν−

j+ 1
2

�

#����

Cj+ 1
2

=
ν ′

2

(

1 + ν ′θ′ +
1 − νθ

r

)

. F6�88G

$
�� �

����
�� ��
��� 

�����
� �������������� ��� �� (
�
��
� θ�

���������� ����
���� �
 �%��������� F6�6CG

/�� � �����! �
�� ����
�
�� ��� a−
j+ 1

2

= 0� #���� �
��������� F6�6CG ��� ����	������ �

Dj+ 1
2
≤ 1 F6�8:G



���&�&����

ν ′

2

(

1 − ν ′′θ(r′′,ν′′)

r′′
+ 1 + ν ′θ(r′,ν′)

)

≤ 1 F6�85G

�

H

1 − ν ′′θ(r′′,ν′′)

r′′
+ ν ′θ(r′,ν′) ≤ 2

ν ′
− 1. F6�87G

0
��� ���� �� 
�� ��������! �
�� 

������
�� �� ��������� ���� ������������� β ���� [0; 1]� $
��


���
�
�� ��
�� ��� 

�����
�� ��� θ ������ ���







ν ′θ(r′,ν′) ≤ β( 2
ν′ − 1),

1−ν′′θ(r′′,ν′′)

r′′ ≤ (1 − β)( 2
ν′ − 1).

F6�8CG

3� �������� ��������� ν ′θ(r′,ν′) ≤ β( 2
ν′ − 1) ��� ����	������ � θ(r′, ν ′) ≥ ln β( 2

ν′
−1)

ln ν′ � /
�� �� ��

���

��������� 1−ν′′θ(r′′,ν′′)

r′′ ≤ (1 − β)( 2
ν′ − 1) L �
�� �	
�� ����
�� ��� ν ′ ≤ µ ����� 2

ν′ − 1 ≥ 2
µ − 1� ��

��� ��
�� ��Q���� ���

1 − ν ′′θ(r′′,ν′′)

r′′
≤ (1 − β)(

2

µ
− 1). F6�89G

$
�� ��������
�� ��� ��� 
�� r′′ ≥ 0 �� r′′ < 0�

P /������ 
�� r′′ < 0 L �
�� 
����
�� θ(r′′, ν ′′) ≥ ln(1−( 2
µ
−1)(1−β)r′′)

ln ν′′ �

P ��

�� 
�� r ≥ 0 L �� 0 < r < 1
( 2

ν
−1)(1−β)

! ��
�� �� 

�����
� ��� θ(r′′, ν ′′) ≤ ln(1−( 2
µ
−1)(1−β)r′′)

ln ν′′ �

�� r′′ > 1
( 2

ν′′
−1)(1−β)

! ��
�� �
��������� ��� 	���)���

�� �
�� ����
�
�� ���������� ��� ν+
j+ 1

2

= 0! ��
�� �
�� �
�	
�� (�
������� ��
�	�� ��
�� �
�

� ��� �� �
�	����� 

�����
��� 0
��� ���� �� 
�� ��������! �
�� ��������
�� ������� 

�����
��

�
�� ���
��������
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*���	��� 4� 3�����	���	�� ��� !��
�	��� θ

7����� �
� 
��������� ��� θ

#���� 
��
���! �
�� �
�	
�� ������� ��� ��������� ���� ��� ������� ���	����� 3� �������

������� �
��� ��� 

�����
�� ��� �� �
��� ��(������� �� θ�

r −∞ 1−β( 2
ν
−1)

(1−β)( 2
ν
−1)

0

θ θ ≥ ln β( 2
ν
−1)

ln ν θ ≥ ln(1−( 2
µ
−1)(1−β)r

ln ν

r 0 β( 2
ν − 1) − 1 +∞

θ θ ≥ ln(1+r)
ln ν θ ≥ lnβ( 2

ν
−1)

ln ν

3� ������� ���	��� �
��� ��� 

�����
�� ��� �� �
��� ���������� �� θ� $
�� �������
�� ���

�� �
����
� ������	� ��
1−β( 2

ν
−1)

(1−β)( 2
ν
−1)

�� −1 ������ �� ν �� µ! ���� �
� ��� �
���
����
� �
�� ��

��)����
� �� θ�

r −∞ −1 0

θ θ ≤ ln(1+r)
ln ν

r 0 1
( 2

µ
−1)(1−β)

+∞

θ θ ≤ ln(1−( 2
µ
−1)(1−β)r

ln ν

#)� ��� �� ������ (
�
��
�� θ � ������! �� ��������� β �
�� �����(����

ln β( 2
ν − 1)

ln ν
≤ θ(r, ν) ≤

ln(1 − ( 2
µ − 1)(1 − β)r)

ln ν
, F6�8;G

�� r ���������� � [0; 1
( 2

ν
−1)(1−β)

] ��

ln(1 + r)

ln ν
≤ θ(r, ν) ≤

ln(1 − ( 2
µ − 1)(1 − β)r)

ln ν
, F6�:<G

�� r ���������� � [−1; 0]� 3� ��

��� 

�����
� ��� �
��
��� 	���)��� 3� �������� 

�����
� ���

����	������ �

β ≥ 1
2
ν − 1

. F6�:4G

���� 
���� 

�����
� �
�� N��� �����(���� �
�� �
�� ν ��� ��� 0 ≤ ν ≤ µ� #���� 
���� 

�����
�

��	����

β ≥ 1
2
µ − 1

. F6�:6G

0
��� ���� �� 
�� ��������! �
�� �
�	
�� ������� β = 1
2
µ
−1

� $
�� �	
�� ����� ��
�	� �� ��
�
&

����
� 4<�
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4��� *���	�	��� ��� θ ���� �� �
���� �6����� ���( �� ����
� <
�� �
���	�� ��� �	���	��=

�
� ���
������ ��� θ  ��� �� �
���� 
!��
�� 
��� �� �� �
� 1
��

�
������ ��� ��������2

���� 
� ����������! (u, v) 
→ a(u, v) ��� ��� (
�
��
� ����� ��� a(u, u) = f ′(u)� $
�� �	
��

����� (∂ua)(u, u) = (∂va)(u, u) = 1
2f ′′(u)� $
�� �����
�� ���������� ��� 

�����
�� ��� θ �
��


������ �� �
���� �

���� �� ���� ���	� �
������� $
�� 

������
�� ��
�� ��� �
����
� u ��Q&

������� ��������� �� �
������
� F4�4G� $
�� �,�
��
�� �� ��	��
������� �� @���
� �� 	
�������

�
�� �
��� (xj, t
n)�

=��������( $
�� ������
�� ��� �
����
�� �����������! un
j ≃ u(xj , t

n) �� un+1
j ≃ u(xj , t

n+1)� 3��

����	��� �� θ ��� ����
�� � ν �� � r �
�� �
���� �����
��	����� θν �� θr� /
�� ������)�� �
�
������!

�
�� 
����
�� �
� �
���� n �
����� �
�� 

������
�� �
������� tn ����� ��� �
����
� j �
����� �
��



������
�� ��� 	������ ������ �� xj� /�� � �����! �
�� �
�
�� f(un
j ) ��� f �� f ′(un

j ) ��� fu�

$
�� �
�
��

Rn
j = un+1

j − un
j + λ(φj+ 1

2
− φj− 1

2
). F6�:8G

$
�� ������
�� ��� �� A� ��������� �� �
��� �
���� ��� �
��� ��� L

φj+ 1
2

=
f(un

j+1) + f(un
j )

2
− 1

2
λ

θn

j+ 1
2 |aj+ 1

2
|
1+θn

j+ 1
2 (un

j+1 − un
j ).

/
�� ) �� ��� �����! �
�� ����
�
�� ��� aj+ 1
2
�� aj− 1

2
�
�� ��� 	������ �
����	��� $
�� 	���
��

��� �� ����
������� ��� �� �N�� �� �
��� 
� ��� ��� ��������� �
�� ������	��� #����!

θj+ 1
2

= θ(r+
j , νj+ 1

2
),

θj− 1
2

= θ(r+
j−1, νj− 1

2
),

��

r+
j =

a+
j− 1

2

∆un
j− 1

2

a+
j+ 1

2

∆un
j+ 1

2

.

$
�� �	
�� �� ��
�
����
� ���	�����

����������� �� ��	� θ ��� !��
�	�� ��� R × [0; 1[ %��	$��� ���� ���� ���� ν# ��� 
���	�	���

θ(1, ν) = 1,

θr(1, ν) = 0,

θν(1, ν) = 0.

����� �� �
���� ����	�� F6�45G7F6�47G �%�
 ��� �����	��� F6�6<G7F6�64G �� �� ��$�	�	�� �� θj+ 1
2

������ ��� F6�66G ��� �� ��
��� ����� �� ����
� �� �� ��
��� ����� �� ������

������ � 3
������ �� ��
�
����� ���

Rn
j = un+1

j − un
j + λ

(

fn
j+1 − fn

j−1

2

− 1

2
(λ

θ
j+ 1

2 |an
j+ 1

2
|1+θ

j+ 1
2 ∆un

j+ 1
2
− λ

θ
j− 1

2 |an
j− 1

2
|1+θ

j− 1
2 ∆un

j− 1
2
)

)

.

F6�::G
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*���	��� 4� 3�����	���	�� ��� !��
�	��� θ

$
�� �	
��

un+1
j − un

j = ut dt +
utt

2
dt2 + o(dt2),

∆un
j+ 1

2
= un

j+1 − un
j = uxdx +

uxx

2
dx2 + o(dx2),

∆un
j− 1

2

= un
j − un

j−1 = uxdx − uxx

2
dx2 + o(dx2),

��

a+
j+ 1

2

= aj+ 1
2

= a + auuxdx + o(dx),

a+
j− 1

2

= aj− 1
2

= a − auuxdx + o(dx).

�
�
 ����� 
��
���! �
�� 
����
�� L

r+
j = 1 −

(

uxx

ux
+ 2

au

a
ux

)

dx + o(dx),

�

H

θj+ 1
2

= θ(1, λa) + (−θr(1, λa)(
uxx

ux
+ 2

au

a
ux) + θν(1, λa)λauux)dx + o(dx) F6�:5G

��

λ
θ
j+ 1

2 |aj+ 1
2
|1+θ

j+ 1
2 = λθ(1,λa)a1+θ(1,λa)(1 − ln(λa)(θr(1, λa)(

uxx

ux
+ 2

au

a
ux)

−θν(1, λa)λauux + (1 + θ(1, λa))
au

a
ux)dx) + o(dx).

$
�� �
�	
�� 
��
���� �� �N�� θj− 1
2
L

r+
j−1 = 1 − (

1

2

uxx

ux
+ 2

au

a
ux)dx + o(dx),

�

H

θj− 1
2

= θ(1, λa) + (−θr(1, λa)(
1

2

uxx

ux
+ 2

au

a
ux) − θν(1, λa)λauux)dx + o(dx) F6�:7G

��

λ
θ
j− 1

2 |aj− 1
2
|1+θ

j− 1
2 = λθ(1,λa)a1+θ(1,λa)(1 − ln(λa)(θr(1, λa)(

1

2

uxx

ux
+ 2

au

a
ux)

+θν(1, λa)λauux) − (1 + θ(1, λa))
au

a
ux)dx) + o(dx).

$
�� �	
��

fn
j+1 = f + auxdx +

1

2
(auxx + auu2

x)dx2 + o(dx2)

fn
j−1 = f − auxdx +

1

2
(auxx + auu2

x)dx2 + o(dx2)

�

H
fn

j+1 − fn
j−1

2
= auxdx + o(dx2).

;:



4��� *���	�	��� ��� θ ���� �� �
���� �6����� ���( �� ����
� <
�� �
���	�� ��� �	���	��=

*� ����
����� �
�� ��� ���������! �
�� 
����
��

R = utdt +
utt

2
dt2 + auxdt − 1

2
dtθ(1,λa)+1dx−θ(1,λa)a1+θ(1,λa)(ln(λa)(θr(1, λa)

−uxx

2
+ 2θν(1, λa)λauux)

−1

2
dtθ(1,λa)+1dx1−θ(1,λa)a1+θ(1,λa)(2

au

a
u2

x(1 + θ(1, λa)) + uxx)

+o(dx2) + o(dt2).

F6�:CG

%� �� u ��� ��� �
����
� ��������� ��

∂tu + ∂xf(u) = 0 F6�:9G

��
�� 
� �
{

uxt + f ′′(u)u2
x + f ′(u)uxx = 0

utt + f ′′(u)utux + f ′(u)uxt = 0.
F6�:;G

*� ����������� �� �������� ������
� ��� −f ′(u) �� �� ������
����� ��� ��� ������
�� ������

� ������! �
�� 
����
��! ��2
� � �� ������
� ut = −f ′(u)ux L

utt − (f ′(u))2uxx − 2f ′′(u)f ′(u)u2
x = 0. F6�5<G

$
�� �	
�� ��� ���
����� a = f ′(u) �� au = 1
2f ′′(u) �

H

utt − a2uxx − 4auau2
x = 0. F6�54G

�

H! �� ���
���� �
�� �
�� ���� ν!

θ(1, ν) = 1, F6�56G

θr(1, ν) = 0, F6�58G

θν(1, ν) = 0, F6�5:G

�
�� 
����
��

R = o(dx2) + o(dt2). F6�55G

*�)�! �� (��� ��� aj+ 1
2
�� aj− 1

2
�
���� �
����(� �����	���� ���������� ���� �� ��	��
�������

������ � �

���� 4 �� θ� �� �
�� ���
�
�� θr(1, λa) = 0 �� θν(1, λa) = 0! ��� ������ �� aj+ 1
2
��

aj− 1
2
�
�����	������� ��� ���� �� ����
�������� #����! �� �
���� ��� �� ��

�� 
���� �� ����
�

�� �� ��

�� 
���� �� ������

$
�� �	
�� ��
�	� �� ��
�
����
� 44�

7
���!�
  '��� %������ ���� �� ���� ����� ��	%��� ��� �� !�	� ��� ��� 
���	�	��� F6�56G7

F6�5:G ��	��� ����	��� ���� ���� ν �6��������� ��� ���������� �� �	K
����� ���� ����%�� �� E������

!��
�	���E θ�
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 ��
 6�6 P �
�
��
� θ ����������� ���� �� 
�� µ = 0.5! p = 4! n = 4�

�
� ���� ��� 
� .��
����� θ

$
�� �
��
�� ��� (������ � ��� ���������� �� (
�
��
�� θ ��� ���������� �

������ ��

�
���� ������� @��! �� ��

�� 
���� �� ����
� �� �� ��

�� 
���� �� ������ ?������
�� ���! �

ν ) �! �� 

���� ������������	� �� �� (
�
��
� θ �
�� ������ ��� �� �
��� �� 


��
����� (1, 1) �
��


������ �� ��

�� 
���� �� ����
�� 0� �
��� �
�� ���������� � �� W
�� @��� �� �
�� 

������
��

�� W
�� @�� �
���� ��� ��� 

�����
�� �� �� ��
�
����
� 4<! �� (������ �� (
�
��
�� �
�����


�&����
�� 

�	���� �
�� �� �
���� 0�3 µ ��(������ � 2
3 L

θp,n(r, ν) =



































0 �� r ≤ 0,

ln(1−γr)
ln(ν) �� 0 < r ≤ (1−νp)

γ ,

p−1
(

1−νp

γ−1

)n (r − 1)n + 1 �� (1−νp)
γ ≤ r < 2 − 1−νp

γ ,

p �� r ≥ 2 − 1−νp

γ .

F6�57G


H γ = 2( 1
µ − 1)� $
�� �������
�� ��� ��� 

�����
�� F6�56G&F6�5:G �
�� 	���)���� $
�� �	
��

���������� ��� �� )���� 6�6 �� 

���� ������������	� �� θ4,4 ���� �� 
�� p = 4! n = 4! µ = ν = 0.5�

�
# ��������� ����������� �� 
�� 
� �������

$
�� �	
�� �
� �� ����

�� ����������� �
�� ������� �
����� �� 
�� �
������ �� 
�� ��� ���&

������ $
�� ������
�� ��� �
����
�� 	�
�
������� �� ���������� 4�4�8� $
�� ����
�
�� ��� ��

�����
� A(u, v) �� ����
������ �
�� �� (
��� Λ(u, v) = ����(αk(u, v)) ���	��� �� �����
� ���

	�
����� ��
���� � ��
��� R(u, v) L

A(u, v) = R(u, v)D(u, v)R(u, v)−1 .

3� �
����
� �
�� �� � �
���� =	�
�
����= �� �����
� ��� ��)��� ��� L

|A(u, v)|�θ = R(u, v) diag(|αk(u, v)|θk )R(u, v)−1. F6�5CG

3� �
���� ��� ��
��

un+1
j = un

j − λ

(

φ(un
j , un

j+1, λ,
−→
θ n

j+ 1
2
) − φ(un

j−1, u
n
j , λ,

−→
θ n

j− 1
2
)

)

, F6�59G

;7
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�� �� ����
��

�	�


φ(u, v, λ, �θ) =
f(u) + f(v)

2
− 1

2
(λI)

�θ |A(u, v)|e+�θ(v − u), F6�5;G

�� e = (1, ..., 1) Z �� �����
� I ��� �� �����
� �������� ���� R
p� 3� ��������� θ ��� ��
�� ���������

���

θk,j+ 1
2

=







θ(r+
k,j, |νj+ 1

2
|) �� νk,j+ 1

2
≥ 0,

θ(r−k,j+1, |νj+ 1
2
|) �� νk,j+ 1

2
< 0,

F6�7<G


H

νk,j+ 1
2

=
dt

dx
αk,j+ 1

2
, F6�74G

��

r+
k,j =

α+
k,j− 1

2

(R−1(un
j − un

j−1))k

α+
k,j+ 1

2

(R−1(un
j+1 − un

j ))k
,

r−k,j =
α−

k,j+ 1
2

(R−1(un
j+1 − un

j ))k

α−
k,j− 1

2

(R−1(un
j − un

j−1))k
.

$
�� ��
��
�� �� 

����	�� �� (
�
��
� θ ���������� ���� �� 
�� �
�������

;C
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$
�� �����
�� 	������ �� �
���� ������� ��� ��,������� � ������
�� ����������� $
�� ������
��

�� (
�
��
� θ4,4 ����������� ���� �� )���� 6�6� 0���� (
�
��
� ��� ��)��� ���

θ4,4(r, ν) =



































0 �� r ≤ 0,

ln(1−γr)
ln(ν) �� 0 < r ≤ (1−ν4)

γ ,

3
(

1−ν4

γ−1

)4 (r − 1)4 + 1 �� (1−ν4)
γ ≤ r < 2 − 1−ν4

γ ,

4 �� r ≥ 2 − 1−ν4

γ .

F8�4G

$
�� ������
�� ��� γ = 2( 1
µ − 1) �� µ ��� �� �
���� 0�3�

�
	 ��� �
������

!$�$� -*������ �
 ��������� ���
���
 ���� �� ���
���� �����

$
�� 

������
�� �
� �
������
� �� ������
�� �������� �	�
 ��� 

�����
� �������� ��������� L

∂tu + ∂xu = 0, x ∈]0; 1[, t > 0, F8�6G

�	�
 

��� 

�����
� ��������

u(x, 0) = sin(πx +
π

4
), x ∈]0; 1[,

�� 

��� 

�����
� �� �
���

u(0, t) = sin(−πt +
π

4
), t > 0.

3� �
����
� � �
�� �� 
� ��
����� ��� L

u(x, t) = sin(π(x − t) +
π

4
).

$
�� �����
�� 

������ �� ���
���
� �� �

���� �� ����
� �� �
���� ������� � ��� ������ �
�����!

�� �
���� �� ?
� ��� ��� @�� ���� ��,���( �� �� �
���� �� 3� &O����
, ��� �
��� ��� @��

;;
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�� �� ��������
� ��� �� �������� ���(
��� �� ����
�� 3� �
���� �� 0
�����


�
��� ��� µ = 0.5� $
�� 

������
�� ��� ��������� �� ������� ��,������� �
�� 
����	�� �

���� ���

��
�� �
������ 3� �
���� �� �
���� �� �������� 	���� �� 200 � 1600 �
����� 3� �
���� �������� ���

����������� ���� �� )���� 8�4� 3�� )����� 8�6! 8�8 �� 8�: ������������ ��� 

����� �� �� �
����
�


��
���� �� ����� )��� ��� ��� �
����� �� ?
�! 3� &O����
, �� ������� �����
��	������ *�)�!

�� )���� 8�5 ���������� ��� �� �N�� ��������� ��� ��
�� 

����� �
������ ������	� F�� �
��� L1G

�� (
�
��
� �� ��� �
����
� �� �
����� �
������������ 3� ����� �� �� 

���� ������������	� ��

log10 err �� (
�
��
� �� log10 h ��� 1.00 �
�� �� �
���� �� ?
�� *��� ��� �� 1.99 �
�� �� �
����

�� 3� &O����
,� *�)�! �� ����� ��� �� 2.01 �
�� �� �
���� �������� $
�� 	���)
�� ����� ��� ��

�
���� ������� ��� �

���� 2 ���� �� 
�� ���������

!$�$� -*������ �
 ��������� ���
���
 ���� ��
 ���
���� 
������
 
� 
���
��

$
�� 

������
�� �
� �
������
� �� ������
�� �������� �	�
 ��� 

�����
� �������� 

������ L

u0(x) =



















0 �� x ∈ ]0; 1
4 [

x − 1
4 �� x ∈]14 ; 1

2 [,

−x + 3
4 �� x ∈]12 ; 3

4 [,

0 �� x ∈]34 ; 1[.

3� �
����
� � �
�� ���

u(x, t) = u0(x − t).

3� �
���� �������� ��� ����������� ��� �� )���� 8�7� 3� �
���� �� ?
� ����� �� ��

�� ��,���( F	
��

)���� 8�CG L �� �
���� �
��� ��� ���� 
������� ��� �� �
���� �� ��� ����(�
��
�� �
�� �������� 3�

����� �� �� 

���� �
������ �� �
��� L1 �� �
����� �
����������� ��� 0.88� 3� �
���� �� 3� &

O����
, �������� ��� 
�
������
�� F(������G �� ���� �� �� ����(�
��
�� 3� �
���� ��� ���� 
�������

F)���� 8�9G� 3� ����� �� �� 

���� �
������ ��� 1.16� 3� �
���� ������� ������ �� 
��
���� ���

�
����
� ��� �� ������
�� ������� � �� �
����
� � �
��� 3� ����� �� �� 

���� �
������ ��� 1.38

��	��
�� 3
������ �
�� �� �
���� ������� ��� ��(������� � �
������ 

����� ��� �� �
���� ��

3� &O����
, F)���� 8�4< �� )���� 8�44G�

4<<
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�� � �
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� F8�6G� 3� �
���� �������� ��� ���������� ���

������ L

u(x, 0) =











0 �� x ∈]0; 1
4 [,

1 �� x ∈]14 ; 1
2 [,

0 �� x ∈]12 ; 1[.

u(0, t) = 0, t > 0

3� �
����
� � �
�� ��� ��
��

u(x, t) = u(x − t, 0).

3� �
���� ������� ��� ����������� ��� �� )���� 8�46� $
�� 

����
�� �� ���
���
� ��� �
����� ��

?
�! �� 3� &O����
, �� ������� �
�� ��� �
���� �������� �� (
��� �� 
������� 3� (
�
��
� θ ���
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��
� ���� �������� ���
��������� 3�� ��������� �
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�
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������ �	�
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�� 
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���

��� �� �
�� �	�
 �� �
���� �� ?
�� �� ����! �� �
���� ������� ��� ���� @�� 
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�� �� �
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,! ��� �������� �� (
���� 
�
������
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������ �� �
���
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�����G�
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1 �� x ∈]0.075; 0.2[,
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sin(5π(x − 0.25)/(0.35 − 0.25)) �� x ∈]0.25; 0.35[,

0 �� x ∈]0.35; 1[.
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∂tu + ∂x(u2

2 ) = 0, x ∈]0; 1[, t > 0,

u(x, 0) = u0(x).
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u(x, 0) = sin(πx +
π

4
), x ∈]0; 1[.
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u(0, t) = sin(−πt +
π

4
), t > 0
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0 �� x ∈]0; 1
4 [,

1 �� x ∈]14 ; 1
2 [,

0 �� x ∈]12 ; 1[.

3� �������� ��� ���(
��� �	�
 6<< �
���� �� �� �
���� �� 0
����� ��� 0.5� 3� �
���� �� 3� &

O����
, �� 

�	���� ��� �� �
�� F)���� 8�8<G� 3�� �
����� �� ?
� �� ������� �
�� �����������

)����� 8�6; �� 8�84 �����
��	������ 3� �
���� ������� 
������ ���� �� 
�

�

!$�$ "���������� �
 ��4
�
��
� ���
����� θn,p ���� �
 
�� ���
���


$
�� �
�	
�� 
�
���� ��� (
�
��
�� �
�� �� ��������� θn,p ��,������� �� 
���� �������� ����

��� ����� ����������� $
�� ����
�� ���� 
���� ������ ��������� (
�
��
�� θ �
�� 	
�� 

����� ��

44<



��/� *�� �
���	��

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−1

−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

Roe
solution exacte

 ��
 8�68 P �
���� �� ?
� �
�� �
������
� �� ������
�� �������� �	�
 ����(�
��
�! 
�

 �� ���&

�������
�� L log10 err �� (
�
��
� �� log10 h Z µ = 0.5 Z T = 0.4 Z Z 400 �
�����

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−1

−0.5

0

0.5

1

1.5

lw
solution exacte

 ��
 8�6: P �
���� �� 3� &O����
, �
�� �
������
� �� ������
�� �������� �	�
 ����(�
��
�! 
�



�� ����������
�� Z µ = 0.5 Z T = 0.4 Z Z 400 �
�����

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−1

−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

hybride
solution exacte

 ��
 8�65 P �
���� ������� �
�� �
������
� �� ������
�� �������� �	�
 ����(�
��
�! 
�

 �� ���&

�������
�� Z µ = 0.5 Z T = 0.4 Z 400 �
�����

444



*���	��� �� 2(���	��
�� �����	����

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

u

 ��
 8�67 P �
���� �� ?
� �
�� �
������
� �� -������ �	�
 ��� �
���� �������� ��������� Z µ = 0.5 Z

T = 0.7�

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

u

 ��
 8�6C P �
���� �� 3� O����
, �
�� �
������
� �� -������ �	�
 ��� �
���� �������� ����&

����� Z µ = 0.5 Z T = 0.7�

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.8

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

u

 ��
 8�69 P �
���� ������� �
�� �
������
� �� -������ �	�
 ��� �
���� �������� ��������� Z µ =

0.5 Z T = 0.7�

446



��/� *�� �
���	��

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

u

 ��
 8�6; P �
���� �� ?
� �
�� �
������
� �� -����� �	�
 ��� �
���� �������� �� 
������ Z

µ = 0.5 Z T = 0.7�

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0.8

1

u

 ��
 8�8< P �
���� �� 3� &O����
, �
�� �
������
� �� -����� �	�
 ��� �
���� �������� ��


������ Z µ = 0.5 Z T = 0.7�

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

 ��
 8�84 P �
���� ������� �
�� �
������
� �� -����� �	�
 ��� �
���� �������� �� 
������ Z

µ = 0.5 Z T = 0.7�

448



*���	��� �� 2(���	��
�� �����	����

�
���� �� 

��
��� ���� �� 
�� �� �
������
� �� ������
�� �������� �	�
 ��� �
���� �������� ��


�������

�
����� �
��� �����! �� 

���� �
�� �� ������ ���� �� W
�� @�� �
�� �������� ��� 
�
������
���

���� �� ������� ����! �
�� ����
�� ��� (
�
��
� �
�� �� 

���� �� ����� ����� ��&������ ���



����� �������� �� W
�� @�� F�
�� �	
�� ��������� ��� 1.001 ���� 1.01 �� (
�
��
� θ4,4 ��)���

��� F6�57G �	�
 p = 4 �� n = 4G� 3� ���� �� �� )���� 8�86 �
���� ��� �� 	������
� �
���� F�@G ��



��� �� ����� ��������� �� ����! �� ������� 
�
������
�� ��������� �
�� 	�������� 0��� 

�)���

�
������� ��������� 

�
������ �� W
�� @���

3� ��

�� ���� 

�
���� ��� (
�
��
�� θ(r, ν) ��)��� ��� F6�57G ���� �	�
 ��,������ p� $
�� �	
��

���������� ��� �� )���� 8�88 ��� 
�� p = 1! p = 4 �� p = 16� 3�� ������� ������	�� �� �
���� L1

�
�� 0.23 �
�� p = 1! 0.04 �
�� p = 4 �� 0.11 �
�� p = 16� 3� 
�� p = 4 ������ �
���� �� ��������

��������� 3� 

��
������� �� �
���� 	���� ��� �
����� p > 16� 0��� �
� ������ ��� �
����� ��

�
������
� ����	������ F	
�� �� �������� 6 �� ���������� 4�4�:G

3� ��
������ ���� 

�
���� �� �������
� n �� �� (
�
��
� ��� �����	���� �� 	
������� �� 1 ����

�
� ������
� F6�57G �� θ �� ������� p = 4� $
�� �	
�� ���������� ��� �� )���� 8�8: ��� 
�� n = 2!

n = 4 �� n = 8� 3�� ������� ������	�� �� �
���� L1 �
�� 0.13 �
�� n = 2! 0.04 �
�� n = 4 �� 0.08

�
�� n = 8� 3� 
�� n = 4 ������ �
���� �� �������� ���������

*�)�! �
�� �����
�� ������ ��� (
�
��
�� θ ��� �
�� ��,������� �� 0 �
�� r < 0� 3� (
�
��
� ������

�
� ��� ��)��� ���

θm(r, ν) =







































8 �� r ≤ ν8 − 1,
ln(1+r)
ln(ν) �� ν8 − 1 ≤ r ≤ 0,

ln(1−γr)
ln(ν) �� 0 < r ≤ (1−ν4)

γ ,

3
(

1−ν4

γ−1

)4 (r − 1)n + 1 �� (1−ν4)
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�� �� 

����	���
�

∂tu + ∂xf(u) = 0, x ∈ R, t ≥ 0. F:�4G

$
�� ����
�
�� ��
�� � ���� ��� ����� ����
���&A� �
����
��� (S,F ) �� ���� �
��� ��� 3� �

#����

S′(u)f ′(u) = F ′(u), F:�6G

46C



*���	��� 5� 8��	�	���	�� �� �����
��� θ �� �	"��	�� ��� �����(	���	�� �� �� �	��	���	�� �6������	� �����	���

�� S ��� ����
�� ����
������ 

�	� �� 3� �
����
� (����� ����
����� F
� ��������G �� F:�4G �
��

�����(���� �
��������
� �� ����	��� ����������

∂tS(u) + ∂xF (u) ≤ 0, x ∈ R, t ≥ 0, F:�8G
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�	� ��� �� S! �
�� �
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����� ��� 	�������� ����
������ ��

������� ξ = ξ(u) = (S′(u))T � 3� ���������
� �
����
���

η = ∂tS(u) + ∂xF (u), F:�:G
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��
���� � �� ��������
���
� ��� ∆tn ����! � �
���� �� �� (
����� ���	���� L

ηn+1
j = S(un+1

j ) − S(un
j ) + λ(ψ(un

j , un
j+1, λ, θ) − ψ(un

j−1, u
n
j , λ, θ)). F:�5G

3� A� ��������� �
����
��� ��
�
�� ��� @���
� ��� �
��� ���

ψ(u, v, λ, θ) =<
ξ(u) + ξ(v)

2
,φ(u, v, λ, θ) >

−1

2

(

< ξ(u),f(u) > −F (u)

+ < ξ(v), f(v) > −F (v)
)

F:�7G


H < , > ������� �� ��
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����� ��� �� ���������
� �
����
��� ��������� �� �
���� �� 3� &

�������
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��)� F3��G ��� �
��
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#$!$� "�� �
� ������
� �
��0���
�
��

%� �
��

g(ξ) = f(u(ξ)),

ϕ(ξ) =< ξ;u(ξ) > −S(u(ξ),

γ(ξ) =< ξ; g(ξ) > −F (u(ξ)).
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u(ξ) = ∇ξϕ(ξ),
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1

∆x
(φj+ 1

2
− φj− 1

2
) > . F:�9G
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����
�� ∆ξj+ 1
2

= ξn
j+1 − ξn

j

�� ∆γj+ 1
2

= γ(ξn
j+1) − γ(ξn

j )! 
� 
������
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2
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2
, φj+ 1

2
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2
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2
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φ∗
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=
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g(ξj+ 1
2
(s)) ds. F:�46G
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(s) =
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(s)) ds
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 B(ξ) = g′(ξ)�
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2
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2
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H
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=
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4
(∆2
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2
∆+∆−
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����
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δ = 4(∆+ + ∆−)2(∆2
+ + ∆2
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�� ��
��
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(∆+ − ∆−) + 2

√
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−

2(∆+ + ∆−)
, F:�4:G
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(∆+ − ∆−) − 2

√
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+ + ∆2

−

2(∆+ + ∆−)
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√
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���
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 ���
���� �� ��
�
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���� �� +�(7��	���	
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�	%�����= �� �� �����	�� ���	�	%� <�����
�	%����� �� ��	%�= ��� � ��� 0 0� �	��	

������� ∆+ +∆− ���� %��� 0 <��� �(�����# ������� �� �����	�� �����	��� �������� �� E
������E

������	���=# |aλ|# �� ���
 dt
dx ��	� ������ ����	 %��� 0 ���� ���	�!�	�� �6	�� ��	�� �6������	�� +�
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� � ��� �� ��
��
��
�

�
����
����

$
�� �	
�� ����� ��� ����
 �����
� ��������� �� ∂tS(u)+∂xF (u) ��2
� �� A� �� @���
��

$
�� ���
�� ���������� �������� 
� A� �
����
��� ��������� �
�� 

������ �� ��������� θ ��

�
���� �������

�
� ������������� 
� θ 
��� 
����� 
������

#$#$� 6
����
 ��
����,


$
�� �������
�� �
� ��� �����������
� �� θj+ 1
2
��� �� ��

��� �������( ���� ��� �� ����
���

� �
�� ��� �� ����� F	
�� I6℄G� ���� 
����� 
������ [xj− 1
2
, xj+ 1

2
] × [tn, tn+1]! �
�� 

������
��

un+1
j = un

j − λ(φ(un
j , un

j+1, λ, θj+ 1
2
) − φ(un

j−1, u
n
j , λ, θj− 1

2
)). F:�49G
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�� �� �������� �����! �
�� ��
��
�� �� ������� �� �N�� 	����� θj �
�� ��� ��� ����������

θj− 1
2
�� θj+ 1

2
� *������ �
�� 
���
�
�� θj ��� ���� �� ���������
� �
����
��� ��������� ������	�

���� 
���� 
������ ��� �� ��

��� �������(� ���� 
����� 
������! �
���
������ ��� ����� L

5������	�
 * �� ��	���� 	�����	! ���� �� 
������ [xj− 1
2
, xj+ 1

2
] × [tn, tn+1]�

I ��	� ∆θ > 0 �� ��� $(�� ��	� q = 0# θn,q
j = 1 <+�( M�����"=�

I ���� ��� ηn+1
j (θn,q

j ) > δ �� θn,q
j > −1 !�	��

I θn,q+1
j = θn,q

j − ∆θ

I q = q + 1

I *��
�� �� ηn+1
j (θn,q

j )

48:



5�5� 3�����	���	�� �� θ ���� 
����� 
������

I $� ���� ����
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�� �� �����
���� θn
pred,j+ 1

2

�
�� θn
j+ 1

2

��������� � �
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, xn
j+ 1

2
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2
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2
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2
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�

I ��	� ∆s > 0 �� ��� $(�� ��	� q = 0# s = ∆s# θn,+,q

j− 1
2

= θn
pred,j− 1

2

# θn,−,q

j+ 1
2

= θn
pred,j+ 1

2

�

I ���� ��� ηn+1
j (θn,+,q

j− 1
2

, θn,−,q

j+ 1
2

) > 0 �� s < 1 !�	��

I θn,+,q+1

j− 1
2

= θn,+,q

j− 1
2

+ s(−1 − θn,+,q

j− 1
2

)

I θn,−,q+1
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2

= θn,−,q

j+ 1
2

+ s(−1 − θn,−,q
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2

)
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2
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2

)
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2
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2
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2
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2
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2
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2
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������ ��� ����
������ �����
���� �� 
�� ��� �������� �
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